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Question Number : 1 Question Id : 5038906641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
From the given responses, find the missing term in the series.

S3L, M50, G9R, ?
Options :

1. ¥ A17U

2. % AI5V

3. ® H17F

4. % C13K

Question Number : 1 Question Id : 5038906641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : (.25

fqu TTu faswedl © ¥, 907 & qwd U &) 1 B

S3L, M50, G9R, ?
Options :

1.¥ A17U

2. % Al5V

3. % HI17F

4. % CI3K

Question Number : 2 Question Id : 5038906642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given responses, find the missing letter cluster in the series.

TK, RM, PO, ?, LS
Options :
1. ¥ MP
2. ¥ NQ
3. % MN
4. % PK

Question Number : 2 Question Id : 5038906642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau T fasedl & 9, 90t & e S1&R THE B J1d B |

TK, RM, PO, ?, LS
Options :
1. % MP
2. ¥ NQ
3. % MN
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4. % PK

Question Number : 3 Question Id : 5038906643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the odd one from the given alternatives.
Options :

1. % Y24A

2. % R14D

3. % Q10G

4. ¥ DI18U

Question Number : 3 Question Id : 5038906643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau U fasedl T o 1 |

Options :

1. % Y24A

2. % R14D

3. % Q10G

4. ¥ DI8U

Question Number : 4 Question Id : 5038906644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the related word from the given alternatives.

Temperature : degree : : Energy : ?
Options :

1. ® Litre

2. % Power

3. ¥ Joule
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4. ® Distance

Question Number : 4 Question Id : 5038906644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
feferRad fasedl § 9 Heiferd 2o |
g = : f&ilt = Setl ;2

Options :

1. % i}

2. % gfeR

3. 9d

4. % g

Question Number : 5 Question Id : 5038906645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letters from the given alternatives.

CHMQ : HMRV : : EAFO : ?
Options :

1. # JKVG

2. % JKVH

3. % JKIV

4. ¥ JFKT

Question Number : 5 Question Id : 5038906645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fefeRed ue #, fau e fashedl & 9 Hefdd ofari o1 o Y|
CHMQ : HMRYV : : EAFO : ?

Options :
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1. % JKVG
2_#® JKVH

3. ® JKIV
4. ¥ JFKT

Question Number : 6 Question Id : 5038906646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, 'FUNCTION' is written as 'CNUFNOIT'. How will 'OXYTACIN' be written as in that language?
Options :

1. ¥ TYXONICA

2. % TXYONICA

3. % TYXOINCA

4. ¥ TYXONIAC

Question Number : 6 Question Id : 5038906646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foreit 8T e HTT &, 'FUNCTION' @1 'CNUFNOIT' & &9 H fordT STl 8 | 39 HINT # 'OX Y TACIN' &1 & foraT Simem?
Options :

1. ¢ TYXONICA

2. % TXYONICA

3. % TYXOINCA

4. % TYXONIAC

Question Number : 7 Question Id : 5038906647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a row of girls, if Rohini who is 12th from the left and Mihika who is 9th from the right interchange their seats, Rohini becomes 18th from the
left. How many girls are there in the row?

Options :
1. % 17
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2. %20

4. v 26

Question Number : 7 Question Id : 5038906647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

dsfal o ue tfad §, afe Ao o o ST T 12d ®iMA R 3R gt o foh 3T & 9d WM IR &, 301 RIF 3199 & gfkafdd &R adt 8
Y ST J AfRolt 189 WM WR 311 w1 3 | Ufad | wrsfaal @) a e fhat g 2

Options :

1. % 17

2. %20

3. % 22

4. ¥ 26

Question Number : 8 Question Id : 5038906648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sonam is older than Renu. komal is younger than Renu. Priya is older than Sonam. Who is the eldest of them?
Options :

1. ¥ Priya

2. % Sonam

3. # Renu

4. % Komal

Question Number : 8 Question Id : 5038906648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y, ¥ Y TS 8 1 S, ¥ A Bt 8| O, I m ¥ S B 1 3990 O e 98T hH /2
Options :

1.« form

2. % g
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3. %3

. 77 HM7T¥INI

Question Number : 9 Question Id : 5038906649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question below, there are two statements followed by four conclusions given in options. You have to take the given statements to be true
even if they seem to be at variance with commonly known facts and then decide which of the given conclusion logically follow(s) from the given
statements.

Statements:
Some inks are not links.
Some inks are pinks.

Options :

1. ¥ Some links are not inks
2. % All inks are pinks

3. # Some inks are not pinks
4. ® All inks are links

Question Number : 9 Question Id : 5038906649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T U T U B, T HU & 91 fdbedl § IR [y ST T B 1 3MYeh! fGT TN ol o1 J HI9HT 5, Hel & d gdard ai 3 e gl
gid g | 3t freenf 1 ufe T R o FifoTe b 3T e Feapsf & T D14 W1 Jhwid $U ¥ SERU -1 6, I Jagnd a2 $© 1l g

HY:

O e}, fofep Tei ¢

3o Wiel, e ¢
Options :

1. ¥ $% foie, el 181 §
2. % it @rel, U §

3. % $o W, i e §
4. % Juft e, i §
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Question Number : 10 Question Id : 5088906650 Question Type : MCQ Option Shuffling : Yes IS Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

In the question given below, there are two statements followed by three conclusions. You have to take the given statements to be true even if they
seem to be at variance with commonly known facts and then decide which of the given conclusion logically follow(s) from the given statements.

Statements:
I. All sparrows are parrots.
II. All parrots are birds.

Conclusion:

I. No sparrows are birds

I1. No birds are sparrows
ITI. Some birds are sparrows

Options :

1. # Only conclusion I follows
2. % Only conclusion II follows
3. ¥ Only conclusion III follows

4. % All conclusions follow

Question Number : 10 Question Id : 5038906650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 feu T Uy H, @ U SR 3D 91G i (hY (U U § | 3T [T TTU U1 1 T T §, ¥l &1 d Fasid axd § fid Udid g
gl uft frseruf 1 ufeu bR qg wifore fs fou e sl & T 19 1 ghaiTd U I SIIIRUI BRI §, I8 Jdd 9 $ i gl

DHY:
1. g IR, da @
1. g A, weh §

fsp:

I I %, veft el 8
1L ®I5 el TR 181 §
111. & Ueft, ThRar g
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1% ad fIsht 1 STRUI Bl g

2. % Had (BN 11 IR0 Hal §
3. ¢ Had By 111 3R Sl §
4. % i} Fspy SFRRUT R §

Question Number : 11 Question Id : 5038906651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question given, relations between different elements are shown in the statements. These statements are followed by two conclusions. Find
out which of the given conclusions follow(s) the given statements and select the correct alternative from the given choices.

Statement:
Z<J=Y<K=X>L

Conclusions:
[.Z<K
II.Z=K

Options :

1. # If only conclusion I follows

2. % If only conclusion II follows

3. ¥ If either conclusion I or conclusion II follows

4. % If neither conclusion I nor conclusion II follows

Question Number : 11 Question Id : 5038906651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu Uy A, Yy A 34w 3raudl & o Tdy ol < T 81 HY & 915 &l sy feu 7w g1 fRT U 99 & 3nyR R st &
I B 3R Ifad W B gl

DHY:
Z<J=Y<K=X>L

frepy.
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I.Z<K
II.Z=K

Options :

1. % g Fad s 1 3TRU HRT 8

2. % g Had FHY 11 IR0l HRdl §

3. ¢ Tfe A dl e 1 a1 e 11 SERU R §

4. % g A Fpd 1 3R 7 8 Fsh T 11 SR el §

Question Number : 12 Question Id : 5038906652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the related number from the given alternatives.

5:124::6:215::7:7?
Options :
1. % 125
2. % 248
3.9 342
4. % 343

Question Number : 12 Question Id : 5038906652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau T fdewed o defda W& &l gHu|
5:124::6:215::7:7?

Options :

1. % 125

2. % 248

3.9 342
4, % 343
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Question Number : 13 Question Id : 50

Orientation : Vertical

88906653 Question Type : MCQ Option Shuffling : Yes I

Correct Marks : 1 Wrong Marks : 0.25

Find the missing number in the series given below.

128, ?, 82, 62, 44, 28
Options :

1. % 99

2.¥ 104

3. % 109

4. % 106

GET IT ON

Google Play

5 Question Mandatory : No Option

Question Number : 13 Question Id : 5038906653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=i <t Tt 9oft § e T [ B

128, 7, 82, 62, 44, 28
Options :

1. % 99

2.¥ 104

3. % 109

4. % 106

Question Number : 14 Question Id : 5038906654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If each circle represents a class of objects/ideas written below, then find out the answer figure which illustrates best relationship among.

"Vegetable, Brinjal, cabbage "

Options :
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Question Number : 14 Question Id : 5038906654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT YA g Al 4T T SRgfi/faaRl &1 a=ifdl &, i 98 IR SHTHid J1d B Sl (14 § a4 I5aR G D! G|
vgsaly, ST, g M

Options :

(@
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Question Number : 15 Question Id : 5038906655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following figure, Rectangle represents Dancer, Hexagon represents Politician, pentagon represents Lawyer and circle represents Doctor.
Which set of letters represents dancers who are politician and doctor?

Options :
1. % e
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2. % g
3_# p

4.¥d

Question Number : 15 Question Id : 5038906655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafafed snepfa §, smad Adioal ®I G §, NCYS AT D! GRIIdT 8, UaYSl dbId B GRNIdT § 3R ga (i I Gl & | &R
&1 B IT g Tl Bl ST § o Ioitas 3R i &2

Options :
1. % ¢
2. % g
3.%b
4.¥d

Question Number : 16 Question Id : 5038906656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A boy runs 20m towards East and runs 10m after taking a right turn and again turns to right and runs 10m and then turns to left and runs 5m and
again turns to left and runs 12m and finally turns to left and runs Sm. Now in which direction is he facing?

Options :
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1. # South
2 % North

3. ¥ East
4. % West

Question Number : 16 Question Id : 5038906656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ASHT Jd B 3R 20 Hiex Ersar g 3R ¢ G 10 Hiex Srsar g 3R fhr 1 Gaahz 10 Hier Isdr § 3R bR a1 e 5 Hier
ST g 3R R T g 12 Wer s & 3R 3id H a1 3R gSdi 8 3R 5 HieR SradT 31 31 39! I by femm 7 32

Options :
1. % gfgor
2. ¥ JWR
3. % gd

4. % Uiy

Question Number : 17 Question Id : 5038906657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related figure from the given alternatives.

Question figure:
Alk| = 0@ =0 $
O@ " ©*ll‘& " .

Options :

Cl[A
@[ %
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Question Number : 17 Question Id : 5038906657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad oy &, fau 7 faewmedl § Traf=id siepfd &1 oo &1 |
W st
Alk| = |O@==0 %
Q@] * [Of%[* A& | °

Options :

Cl[A
@[ %
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Question Number : 18 Question Id : 5038906658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
How many triangles are there in the given figure ?

Options :
1. % 10
2. % 11
3.9 12
4. % 13
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Question Number : 18 Question Id : 5088906658 Question Type : MCQ Option Shuffling : Yes I$ Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& TR srepfar H b BAye 82

Options :
1. % 10
2. % 11
3.¥ 12
4. % 13

Question Number : 19 Question Id : 5038906659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure will complete the pattern in the question figure?

\ 4

<[y

Options :
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Question Number : 19 Question Id : 5038906659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIF-Tt IR MHTA, T 3Mpfa &b UfAET B TR B2
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Question Number : 20 Question Id : 5038906660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Find the mirror image of the given figure

Options :
-]
”
1. %
i
t
2. ®
4
3. ®
4. v
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Question Number : 20 Question Id : 5038906660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& TR 31T BT g Ufcifoe rd B
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Options :
1. %
] [~

§
2. %
3. ®
4. & %

General Awareness

Group Number : 2
Group Id : 503890154
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No
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Edit Attended Group? :
Break time :

Group Marks :
Is this Group for Examiner? :

20
No

General Awareness

Section Id :

Section Number :

Section type :
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Number of Questions :
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Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :
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Question Shuffling Allowed :
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Question Number : 21 Question Id : 5038906661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

India Gate is a memorial built to commemorate the Indian soldiers who died in which of the following events?

Options :

1. ¥ 1857 Revolt

2. % 1919 Jallianwala Bagh Massacre
3. % 1947 India-Pak War

4. ¥ World War 1

Question Number : 21 Question Id : 5038906661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 1857 ®1fagg

2. % 1919 SfergiaTal a1 sATHIS
3. % 1947 YRA-U® J&
4. faygg 1

Question Number : 22 Question Id : 5038906662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many verses are there in the Samaveda?
Options :

1. % 900

2. %1001

3. %1028

4. ¥ 1875

Question Number : 22 Question Id : 5038906662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qHae H o fhan Tl 32

Options :

1. % 900

2. % 1001

3. % 1028

4. ¥ 1875

Question Number : 23 Question Id : 5038906663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Elephanta caves is a conglomeration of how many caves?
Options :
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Question Number : 23 Question Id : 5038906663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TettheT Y fhdt et &1 Wg 82
Options :

1. %5

2.9 7

3.%9

4. % 11

Question Number : 24 Question Id : 5038906664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which economist is known as the brainchild behind the 1991 LPG reforms in India?
Options :

1. # Amartya Sen

2. ¥ MS Swaminathan

3. ¥ Manmohan Singh

4. # Verghese Kurien

Question Number : 24 Question Id : 5038906664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA H 1991 & Tadion R & Uiy forg srfimedt o) 9 faar S g2
Options :

1. % 3AT I
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2. % THUY WA
3« Taiga Rig

4. % TS pRaA

Question Number : 25 Question Id : 5038906665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is called GDP Deflator?
Options :

1. #® Ratio of nominal to real GNP

2. % Ratio of nominal to real CPI

3. # Ratio of real to nominal GNP

4. ¥ Ratio of nominal to real GDP

Question Number : 25 Question Id : 5038906665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefed & 9 ford shetd fetkier FeT S 82

Options :

1. ® qHAE & aRddd Ghd IRe IATE I ST

2. % HHE P D AIUISHTS o 30T

3. % gRAfd® Y ATHATH SHEAU! & 3uTd

4.  ATHHAE YHd TR SMIG D] dRIdd Tdhd g 3dIG b 1Y SUTd

Question Number : 26 Question Id : 5038906666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is used in making Pencils?
Options :

1. ¥ Graphite

2. % Silicon
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3. # Charcoal
4_# phﬁQph(\ﬂlQ

Question Number : 26 Question Id : 5038906666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofafed & © fege vai URid 9= o fasan oirar 82
Options :

1. ¢ JBIge

2. ® fYferepi

3. % DG DI DRI

4. % BREHRY

Question Number : 27 Question Id : 5038906667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does the P in pH Value stands for?
Options :

1. # Purity

2. # Physical

3. ¥ Potenz

4. % Phosphorus

Question Number : 27 Question Id : 5038906667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g (pH) 719 & t(p) &1 71 31 82
Options :

1. #® RdT (Purity)

2. % YIfdd (Physical)

3. ¢ TICST (Potenz)
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4. ¥ HREHRY

Question Number : 28 Question Id : 5038906668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the highest peak in the Eastern Ghats of India?
Options :

1. ® Anai Mudi

2. % Mount Everest

3. # Kanchenjhunga

4. ¥ Mahendragiri

Question Number : 28 Question Id : 5038906668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifea # 3 Pl 4Rd & g °re & Ia9 St Al 82
Options :

1. % 3R ARG

2. % HEC TRE

3. % S

4. ¥ TG R

Question Number : 29 Question Id : 5038906669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the name of the outermost range of the Himalayas?
Options :

1. # Pir Panjal

2. ¥ Shiwaliks

3. # Dhaula Dhar

4. ¥ Mahabharat
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Question Number : 29 Question Id : 5088906669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fRATE &1 T 18- 4RI T AT T 82
Options :

1. % UR USld

2. ¢ Rrarfers

3. % A YR

4. % HgHRd

Question Number : 30 Question Id : 5038906670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was the Dandi March organized?
Options :

1. % 1920

2. % 1925

3. %1930

4. % 1932

Question Number : 30 Question Id : 5038906670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sl A fohd oy # Srtford fob 15 i
Options :
1. #1920
2. %1925
3. %1930
4. % 1932
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Question Number : 31 Question Id : 50

Orientation : Vertical

38906671 Question Type : MCQ Option Shuffling : Yes I

Correct Marks : 1 Wrong Marks : 0.25

When was the Taj Mahal designated as a UNESCO World Heritage Site?

Options :
1. ¥ 1983
2. %1947
3. % 1962
4. % 2001

GET IT ON

Google Play

5 Question Mandatory : No Option

Question Number : 31 Question Id : 5038906671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ATSTHE ! Akeh! o1 [y eRIER Wd o U H o I b1 737 U2

Options :
1. ¥ 1983
2. % 1947
3. % 1962
4. % 2001

Question Number : 32 Question Id : 5038906672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Whom did the Mughal Army fight in the 2nd Battle of Panipat?

Options :

1. ¥ Maharana Pratap
2. ¥ Hemu

3. % Sher Shah Suri
4. ® Chhatrapati Shiv

aji

Question Number : 32 Question Id : 5038906672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
U B i) AaTs B I 341 2 {56 eTs ael ot

Options :

1. % HGRTU YdTg
2. ¥ 3

3. % IR
4. % yufd fRrarsf

Question Number : 33 Question Id : 5038906673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What part of the Indian Constitution provides for the Directive Principles of State Policy?
Options :

1. %1

2. %2

3.¥ 4

4. % 6

Question Number : 33 Question Id : 5038906673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Hfaer & fbg it § g & ifd Fe=ie dal &1 rae g2
Options :

1. %1

2. %2

3.¥ 4

4. % 6

Question Number : 34 Question Id : 5038906674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What Article of the Indian Constitution provides for free legal aid to the poor and weaker sections of the society?
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Options :
1% 30

2. ¥ 39A
3. % 36
4. % 4]

Question Number : 34 Question Id : 5038906674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR AU &1 D AT Sfde THS & TR R FHSR a1 Pl T ST TerIdl e Bl 62
Options :

1. % 30

2. ¥ 39A

3. % 36

4. % 41

Question Number : 35 Question Id : 5038906675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is the author of the book "Wild and Wilful"?
Options :

1. ¥ Neha Sinha

2. ¥ NV Ramana

3. # Sanjeev kumar

4. ® Saurabh Garg

Question Number : 35 Question Id : 5038906675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"qIETS TS faapa” Jidd & oad HH 62

Options :
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Question Number : 36 Question Id : 5038906676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following received the Vyas Samman 2020?
Options :

1. ¥ Nasima Sharmma

2. #® Leeladhar Jagufi

3. ¥ Sharad Pagare

4. % Amitav Ghosh

Question Number : 36 Question Id : 5038906676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad o 9 ford o I 2020 T g3
Options :

1. % = i

2. % WICeR SRIwI

3. ¥ TRE YR

4. % 3HAY O

Question Number : 37 Question Id : 5038906677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is credited for making the first fully indigenous silent feature film in India?
Options :

1. # Dhirendra Nath Ganguly
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2. # Qatyajit Ray
3% Dada Saheb Phalke

4. % Raj Kapur

Question Number : 37 Question Id : 5038906677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad o 9 ford yRa o ugel quf W=l g weR fhe 57 &1 97 far S 82

Options :

1. % Res =7y et
2. % GG Y

3. ¥ TE 9Tgd il
4, % IS PP

Question Number : 38 Question Id : 5038906678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is India's rank in UN World Happiness Report 20217
Options :

1. % 120th

2. % 149th

3. % 123th

4. ¥ 139th

Question Number : 38 Question Id : 5038906678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U 978 gWHY RUIE 2021 H YR B X 1 87
Options :

1. % 120

2. % 1494t
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3. % 1239f
4/ 139

Question Number : 39 Question Id : 5038906679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is the first male cricketer to reach 3000 T20 international runs?
Options :

1. #® Chris Gayle

2. ® AB De Villiers

3. # Rohit Sharma

4. % Virat Kohli

Question Number : 39 Question Id : 5038906679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3000 €120 SIARRTYI XA Teb UgaH dTet Ugel Yo fohaber BIH 67
Options :

1. % fpgia

2. % e fefaferd
3. % fed 2l

4. ¢ faR1e B

Question Number : 40 Question Id : 5038906680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which team won the Coppa Italia 20217
Options :

1. ¥ Atlanta

2. % AC Milan

3. ¥ Juventus
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4. ® Napoli
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Question Number : 40 Question Id : 5038906680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST eTerdr 2021 foog AF A Sidm?
Options :

1. ® 3fcdicT

2. % T fiaE

3. Jdcq

4. % U

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Arithmetic Ability

3
503890155
0

0

No

No

0

20

No

Arithmetic Ability

503890263
1

Online
Mandatory
20

20
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Section Marks :

iview and Clear Response :
Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :

20

Yes

1
503890311
Yes
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Question Number : 41 Question Id : 5038906681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Find the smallest fraction of the following fractions?
Options :
7

21

34
3. o 71

43

Question Number : 41 Question Id : 5038906681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
fraferRad il & @ Ted I i J1d Hifey
Options :

7
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Question Number : 42 Question Id : 5038906682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What will come in the place of question mark (?) in the given expression?

280+ 14 x 15 +252=72+ 20 percent of 125

Options :
1. % 25
2.¥ 30
3. % 35
4. % 40

Question Number : 42 Question Id : 5038906682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau U ot O Uy g (2) & RIF TR T ST

280 + 14 % 15 +252 =922+ 125 FT 20 gfaea
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Options :
1% 25

2. ¢ 30
3. % 35
4. % 40

Question Number : 43 Question Id : 5038906683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What value will come in place of question mark (?) in the following question?

V1024 + 7= 2 4; of 70

Options :
1. ¥ 148
2. % 156
3. % 128
4. % 138

Question Number : 43 Question Id : 5038906683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafaRad v 7 Uy 8 (2) & RIH TR 1 31 ST

V1024 + 7 = ?ﬂaﬁrzg

Options :
1. ¥ 148
2. % 156
3. % 128
4. % 138
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+5038906684 Question Type : MCQ Option Shuffling : Yes I

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

How many numbers between 200 and 1500 are divisible by both 3 and 7?
Options :

1. % 60

2. % 64

3.9 62

4. % 66

Question Number : 44 Question Id : 5038906684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

200 3R 1500 & o B T fHat TBIME & S 3 3R 7 GH1 ° faUra 52
Options :

1. % 60

2. % 64

3.9 62

4. % 66

Question Number : 45 Question Id : 5038906685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is the lowest four-digit number which when divided by 8, 12 and 15 leaves remainder 77
Options :

1. % 1067

2. % 1037

3. %1047

4. ¥ 1087

Question Number : 45 Question Id : 5038906685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Correct Marks : 1 Wrong Marks : (.25

IR 3H! B! JIY DI T-AT B Tt g O 8,12 3R 15 T HFT S WR AV 7 U 81?2
Options :
1. % 1067
2. % 1037
3. % 1047
4.9 1087

Question Number : 46 Question Id : 5038906686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average price of 3 items of furniture is Rs. 1200. If their prices are in the ratio 4: 5 : 3, then what is the price of the cheapest item?
Options :

1. % 2000

2. %1500

3. % 1800

4. ¥ 900

Question Number : 46 Question Id : 5038906686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WrraR Juft & 3 a3l BT ST BT 1200 BT g | TG ST DI BT ST 4: 5:3 B, AN b T il A% DI DA b=l R
Options :

1. % 2000

2. % 1500

3. % 1800

4. % 900

Question Number : 47 Question Id : 5038906687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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600 gm of sugar solution has 45 percent sugar in it by weight. How much sugar must be added in the s

solution (by weight)?

GET IT ON

Google Play

olution to make it 60 percent sugar

Options :

1. ¥ 225 gm
2. % 200 gm
3. % 250 gm
4. % 180 gm

Question Number : 47 Question Id : 5038906687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T B 600 TITH O T HR & TU | 45 Ufaera 9 g | Oid H iR fooamit =i fiems o f5e b oiet ® <t &) |71 60 ufawrd g1 Sme

(R & &0 H)
Options :

1. % 225 UH
2. % 200 UH
3. % 250 UTH
4. % 180 UH

Question Number : 48 Question Id : 5038906688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The price of wheat reduced by 20 percent. If a family wants to keep their expenses on wheat the same as earlier, the family will have to increase

its consumption of wheat by.

Options :

1. #® 16.66 percent
2. ¥ 25 percent

3. # 30 percent

4. % 20 percent

Question Number : 48 Question Id : 5038906688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
TIg o Siud § 20 NI & HHI S5 7| IS PIs IRTR Ugd B aR8 o1 715 UR 30T T 31 AIEdL g, dl UNAR Bl I $I \Ud SgI-i

il

Options :

1. % 16.66 Ufd2rd
2. ¢ 25 Ufd=Id

3. % 30 Ufaerd

4. % 20 Ufa=rd

Question Number : 49 Question Id : 5038906689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An item is marked at Rs.1520 and 25 percent discount is given on its marked price. If 4 percent loss incurred on selling the item, then what is the
difference between marked price and cost price of the item?

Options :

1. ¥ Rs.332.5
2. % Rs.296.5
3. % Rs.304.5
4. ® Rs.368.5

Question Number : 49 Question Id : 5038906689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T g TR 1520 U 3ifebel foba1 SITell & 31R g8 Sifebd Hedl TR 25 UfIel 1 Pe UGH i i & | Al % ! o<l S TR 4 Hferard g1
Bidl 8, o % & 3ifbd e 3R Y HeU & ot T 3R fba1 82

Options :

1. ¥ 332,500

2. % 206.5F0Y

3. % 304.5 %00

4. % 368.5 00
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Question Number : 50 Question Id : 5088906690 Question Type : MCQ Option Shuffling : Yes I$ Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of 45 percent of 80 percent of A to 30 percent of 40 percent of B is 15 : 4. If the average of A and B is 67.5, what is the value of A - B?
Options :

1. % 12

2. %10

3.¥ 15

4. % 18

Question Number : 50 Question Id : 5038906690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A % 80 UFI=Td BT 45 UFI=I TUT B & 40 WA=Td & 30 UFA=Id BT SIJUTd 15 : 4 81 TS A 3R B &1 3id 67.5 ], A A - B BT HH {182
Options :

1. % 12

2. %10

3.¥ 15

4. % 18

Question Number : 51 Question Id : 5038906691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two containers A and B contain mixture of Alcohal and water in the ratio of 3 : 2 and 9 : 11 respectively. If 12 liters of mixture from container A
and 24 liters of mixture from container B are mixed to form another mixture, then what will be the ratio of Alcohal and water in the resultant
mixture?

Options :
1.%2:3
2.% 211
3. 1:1
4, % 1:2
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Question Number : 51 Question Id : 5088906691 Question Type : MCQ Option Shuffling : Yes I$ Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& I A 3R B T IRTF SR U &7 YOI A= 3:2 3R 9: 11 P AU H & | Afe T A T 12 7iex yor iR a9 B H 9§ 24 AR
fRrsror T 1= fRreyor S o forg foraman S &, o afRome firsor & IRT19 SR Tt &1 SrguTd fara g

Options :
1.%#2:3
2.%2:1
3. 1:1
4. % 1:2

Question Number : 52 Question Id : 5038906692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The difference between compound interest and simple interest at 12 percent for 2 years on the same principal amount is Rs. 432. Find the
principal amount.

Options :

1. # Rs. 25000
2. # Rs. 40000
3. ¥ Rs. 20000
4. ¥ Rs. 30000

Question Number : 52 Question Id : 5038906692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U & T WR 12 Ud &Y @R & 2 aut 7 T e o ahafa e SR TR 7o 3 ol &7 Sfck 432 T § | JAYH J1d Y|
Options :

1. % 25000 U

2. % 40000 TYY

3. % 20000 ¥TY

4. ¢ 30000 T
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Question Number : 53 Question Id : 5088906693 Question Type : MCQ Option Shuffling : Yes I$ Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Speed of a bus and a car are in the ratio 2 : 5 respectively. Car covers a distance of 280 km in some time and bus covers a distance of 'd' km less
in same time. What is the distance covered by bus?

Options :

1.¥ 112 km
2. % 168 km
3. % 144 km
4. % 132 km

Question Number : 53 Question Id : 5038906693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP T 3R TH HR DI 1 BT SAIATT HHRT: 2 ¢ 5 81 HR 280 [ B gt $© THI T 70 HRl § 3R 9 'd” {1 g qum gwg |
T HA B, N T GRT T DI 18 g fobet g2

Options :

1. 112 forit
2. % 168 fopdlt
3. % 144 fpit
4. % 132 fout

Question Number : 54 Question Id : 5038906694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A motor boat can travel at 10 km/hr in still water. It travelled 91 km downstream in a river a then returned taking altogether 20 hours. Find the
rate of flow of the river.

Options :

1. % 3 km/hr
2. ® 5km/hr
3. # 6 kin/hr
4. % 8 km/hr
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Question Number : 54 Question Id : 50838906694 Question Type : MCQ Option Shuffling : Yes IS Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TS AR dc 38X gU UMt H 10 fatfi/der &t ifa § amn o= It 81 394 U A1 § 91 farddt sruare &t 3iR am &1 3R A 33 ®iF
TR TS 39 $A A1 H I 20 °S BT IHY T ] & FaTg DI i J1d HIfoTg |

Options :

1. ¢ 3 fopdi/eier
2. % 5 fpHl/Ee
3. % 6 fopHi/eeT
4. % g fhul/Ear

Question Number : 55 Question Id : 5038906695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

20 men can do a work in 15 days while 10 women can do the same work in 20 days. In how many days, will 18 men and 18 women do the same
work?
Options :
14
— days
1. ® ®

16
— days
2. % '

20
— days
3. 3 7

4 % 5 days

Question Number : 55 Question Id : 5038906695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 56 Question Id : 5038906696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The area of a rectangle increases by 7 sq. units when its breadth alone is increased by 1 unit. Its area increases by 5 sq. unit when its length alone
is increased by 1 unit. Find the perimeter of the original rectangle.

Options :

1. #® 17 units
2. % 36 units
3. # 18 units
4. ¥ 24 units

Question Number : 56 Question Id : 5038906696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T 3T BT EAHA 7 T 3Bl gRI I6dl § oId bl AISTs | IBTS 96 AT ¢ | TUDT 8ADBA 5 T 3BHTs U 96 5, O 3P| ddls
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Google Play



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

GET IT ON

Google Play

Addai247

Options :

L% 173

2. % 363PTS
3. % |8 THIS
4. ¥ 24 DTS

Question Number : 57 Question Id : 5038906697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the diameter (in cm) of a sphere of surface area 24.64 sq cm?
Options :

1. % 14

2. %35

3.¥2.38

4. % 24

Question Number : 57 Question Id : 5038906697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

24.64 T Q.. Y AFBd ardl T BT g (@ AL 7 R @2
Options :

1. %14

2. %35

3.9 2.8

4. % 24

Question Number : 58 Question Id : 5038906698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following table indicates language- wise internet users in India over the years (in million)
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Language 2013 2014 2015 2016
Hindi 2101 275 305 369
English 306 281 328 335
Bengali 32 43 52 43
Kannada 110 112 123 115
Telugu 51 39 42 88

What is the average number of Kannada internet users over the years?

Options :

1. % 120 million
2. % 115 million
3. # 110 million
4. % 125 million

Question Number : 58 Question Id : 5038906698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferad arfere fau o auf & (@iferaa /) HRd & HIWI-aR Sexe STTHAlsl & 3fide SMd Hdl gl

TST 2013 2014 2015 2016
fgcr 201 295 305 369
3iaretr 306 281 328 335
EEIIE] 32 43 52 43
Feals 110 112 123 115
e 51 39 42 88
fau T auf & Here U Sexie IuARTH TS Bt SN T fhat 89
Options :
1. % 120 faferg=
2. ¢ 115 ffee

3. % 110 Ml

Google Play
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Question Number : 59 Question Id : 5038906699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following table indicates language- wise internet users in India over the years (in million)

Language 2013 2014 2015 2016
Hindi 201 275 305 369
English 306 281 328 335
Bengali 32 43 52 43
Kannada 110 112 123 115
Telugu 51 39 42 88

What is the ratio of total internet users in 2016 to 2015 combining all language together?

Options :

1.¥19:17
2. % 17:19
3.%9:10
4. % 10:9

Question Number : 59 Question Id : 5038906699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad aifere Ued o auf § (Biferm o) YRd & HIN-aR $e3-e SuarTmdisi & sfiws SRId HRdl 8|
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£ 2013 1014 2015 2016

Tecrl 201 275 305 369
3faretr 306 281 328 335
R 32 43 52 43
E T 110 112 123 115
deldl 51 39 42 88

Tt Eexie STARTH AT B UTHTST B Tgad U F 3@ TR Y 2016 3R T 2015 H Fd e SUANHAIS BT SHIATd favaT 62

Options :

1.¥19:17

2.% 17:19

3.%9:10

4.%10:9

Question Number : 60 Question Id : 5038906700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The graph given below shows the number of watches (Wrist watches + Wall watches) sold in different months of a year by a Watch shop.

Number of Watches sold in different months
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Find the average of number of Wrist watches sold in the given months by the shop.
Options :

1. % 89

2.¥ 99

3. % 97

4. % 93

GET IT ON

Google Play

Question Number : 60 Question Id : 5038906700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 89
2.¥ 99
3. % 97
4. % 93
General English

Group Number : 4
Group Id : 503890156
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No
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Question Number : 61 Question Id : 5038906701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

In the following question, four sentences are given out of which three sentences are grammatically incorrect while one is correct. Find out which

sentence is grammatically correct and select the appropriate option.

Options :

1. ¥ The Archbishop sought education and knowledge with unwayvering zeal.

2. ® In his early years, he accidentally stumbled with school in Mwala, Masaku.

3. % Afterwards, he travell abroad for his BA degree in political science and history.

4. ® He also treated its parishioners with utmost respect.

Question Number : 61 Question Id : 5038906701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

In the following question, four sentences are given out of which three sentences are grammatically incorrect while one is correct. Find out which

sentence is grammatically correct and select the appropriate option.

Options :

1. % The Archbishop sought education and knowledge with unwavering zeal.
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2. % In his early years, he accidentally sthmbled with school in Mwala, Masaku.

3_# Afterwards _he travell abroad for hid BA degree in po]itica] science and history‘

4. ® He also treated its parishioners with utmost respect.

Question Number : 62 Question Id : 5038906702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the segment in the sentence which contains the grammatical error from the given options.

Wherever they go Indians easily adapt to the local circumstances.
Options :

1. ®¥ Wherever they go

2. # Indians easily

3.+ adapt to

4. % the local circumstances

Question Number : 62 Question Id : 5038906702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the segment in the sentence which contains the grammatical error from the given options.

Wherever they go Indians easily adapt to the local circumstances.
Options :

1. # Wherever they go

2. # Indians easily

3. ¥ adapt to

4. % the local circumstances

Question Number : 63 Question Id : 5038906703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select No
substitution required.
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Ishant, though jet-lagged and sleep-depriyed, not played the entire 1st Test also was India’s most potent bowler picking five wickets for 68 runs

in the first innings, looking so sharp as he had been before getting injured.
Options :

1. # not only, and also, as, as

2. ¥ not only, but also, as, as

3. # not only, but also, so, as

4. % No substitution required

Question Number : 63 Question Id : 5038906703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select No
substitution required.

Ishant, though jet-lagged and sleep-deprived, not played the entire 1st Test also was India’s most potent bowler picking five wickets for 68 runs
in the first innings, looking so sharp as he had been before getting injured.

Options :

1. ® not only, and also, as, as
2. ¥ not only, but also, as, as
3. # not only, but also, so, as

4. ® No substitution required

Question Number : 64 Question Id : 5038906704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select No
substitution required.

US President Donald Trump declared that his country would be always faithful and loyal to Indians, and enthusiastically embraced the entire
gamut of India-US ties.

Options :
1. # would be always, enthusiastic

2. # would always, enthusiasm
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3. ¥ would always be, enthusiastically

4_#% No substitution rPr}nirPd

Question Number : 64 Question Id : 5038906704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select No
substitution required.

US President Donald Trump declared that his country would be always faithful and loyal to Indians, and enthusiastically embraced the entire
gamut of India-US ties.

Options :

1. #® would be always, enthusiastic

2. ® would always, enthusiasm

3. ¥ would always be, enthusiastically

4. ® No substitution required

Question Number : 65 Question Id : 5038906705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

He is one of rare individuals whose wealth and success no one begrudges.
Options :

1. ¢ those

2. % these

3. % this

4. % that

Question Number : 65 Question Id : 5038906705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.
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He is one of
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Options :
1. ¥ those
2. % these
3. ® this
4. % that

whose wealth and success no one begrudges.
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Question Number : 66 Question Id : 5038906706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The Indian auto industry was left completely

Options :

1. # organized
2. ¥ topsy-turvy
3. # classified
4. ® wondered

after the Covid crisis hit the nation.

Question Number : 66 Question Id : 5038906706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The Indian auto industry was left completely

Options :

1. #® organized
2. ¥ topsy-turvy
3. # classified
4. ® wondered

after the Covid crisis hit the nation.

Question Number : 67 Question Id : 5038906707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : (.25

Rearrange the following sentences in correct order to form a meaningful paragraph.

p: One year after the launch of the government scheme while expectations
Q: the scheme has hardly reached to those who need it most
R: have been increasing about its reach

Options :
1. % PQR
2. ¥ PRQ
3. # RQP
4. ®# RPQ

Question Number : 67 Question Id : 5038906707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the following sentences in correct order to form a meaningful paragraph.

p: One year after the launch of the government scheme while expectations
Q: the scheme has hardly reached to those who need it most
R: have been increasing about its reach

Options :
1. ¥ PQR
2. ¥ PRQ
3. # RQP
4. ® RPQ

Question Number : 68 Question Id : 5038906708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the following sentences to form a meaningful paragraph.

A: But the rubble was too heavy and I could not move. I started yelling for help.

B: I tried to move the rubble so I can come out and search for my family.

C: It then occurred to me that I was trapped under the debris of my house due to the earthquake that stuck late night.
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D: I realized that I was trapped under the fubble.
E: It was just the beginning of dawn when I regained consciousness.

Options :

1. ¥ ABCDE
2. ¥ EDCBA
3. # ABCED
4. ¥ EBDCA

Question Number : 68 Question Id : 5038906708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the following sentences to form a meaningful paragraph.

A: But the rubble was too heavy and I could not move. I started yelling for help.

B: I tried to move the rubble so I can come out and search for my family.

C: It then occurred to me that I was trapped under the debris of my house due to the earthquake that stuck late night.
D: I realized that I was trapped under the rubble.

E: It was just the beginning of dawn when I regained consciousness.

Options :

1. ¥ ABCDE
2. ¥ EDCBA
3. # ABCED
4. ® EBDCA

Question Number : 69 Question Id : 5038906709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

CANTANKEROUS
Options :

1. ¥ Quarrelsome

2. % Rash

3. # Disrespectful

4. % Obese
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75638906709 Question Type : MCQ Option Shuffling : Yes Is

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

CANTANKEROUS
Options :

1. ¥ Quarrelsome

2. ® Rash

3. #® Disrespectful

4. ® Obese

Question Number : 70 Question Id : 5038906710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

COMPREHENSIVE
Options :

1. #® Inadequate

2. % Indifferent

3. ¢ Superficial

4. % Compressive

Question Number : 70 Question Id : 5038906710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

COMPREHENSIVE
Options :
1. #® Inadequate
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2. ® Indifferent
3+ Syperficial

4. ® Compressive

Question Number : 71 Question Id : 5038906711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word.

Options :

1. ® Sqaundered

2. #% Squendered

3. ¥ Squandered

4. ® Sgeundered

Question Number : 71 Question Id : 5038906711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word.

Options :

1. ¥ Sqaundered

2. % Squendered

3. % Squandered

4. % Sqgeundered

Question Number : 72 Question Id : 5038906712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the wrongly spelt word.

Options :

1. % Familar

2. % Grammar

3. # Grandeur
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4. % Grievous

Question Number : 72 Question Id : 5038906712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the wrongly spelt word.

Options :

1. ¥ Familar

2. % Grammar

3. # Grandeur

4. % Grievous

Question Number : 73 Question Id : 5038906713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/ phrase.

Skating on thin ice

Options :

1. #® If you make another mistake, there will be trouble
2. ® To argue the opposite, just for the sake of argument
3. # An event that happens infrequently

4. ¥ To be in a situation that can get quite dangerous or risky

Question Number : 73 Question Id : 5038906713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/ phrase.

Skating on thin ice
Options :
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1. # If you make another mistake, there yill be trouble

2_% To argue the nppnqifpj jnq‘r for the sdke of argument

3. # An event that happens infrequently

4. ¥ To be in a situation that can get quite dangerous or risky

Question Number : 74 Question Id : 5038906714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/ phrase.

To have second thoughts
Options :

1. #® To change a decision
2. % To plan carefully

3. % To take someone

4. ¥ To reconsider

Question Number : 74 Question Id : 5038906714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/ phrase.

To have second thoughts
Options :

1. # To change a decision
2. # To plan carefully

3. # To take someone

4. ¥ To reconsider

Question Number : 75 Question Id : 5038906715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.
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One for whom money is the most importgnt thing

Options :

1. # Martyr

2. % Masochism
3. ¥ Materialistic
4. ® Matinee

Question Number : 75 Question Id : 5038906715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

One for whom money is the most important thing
Options :

1. # Martyr

2. % Masochism

3. ¥ Materialistic

4. % Matinee

Sub-Section Number : 2
Sub-Section Id : 503890313
Question Shuffling Allowed : Yes

Question Id : 5038906716 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following passage and answer the questions below.

Rabindranath Tagore, born May 7, 1861, Calcutta [now Kolkata], India—died August 7, 1941, Calcutta), was a Bengali poet, short-story writer,
song composer, playwright, essayist, and painter who introduced new prose and verse forms and the use of colloquial language into Bengali
literature, thereby freeing it from traditional models based on classical Sanskrit. He was highly influential in introducing Indian culture to the
West and vice versa, and he is generally regarded as the outstanding creative artist of early 20th-century India. In 1913 he became the first non-
European to receive the Nobel Prize for Literature.
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The son of the religious reformer Debendfanath Tagore, he early began to write verses, and, after incomplete studies in England in the late 1870s,
he returned to India. There he published several books of poetry in the 1880s and completed Manasi (] 890), a collection that marks the maturing

of his genius. It contains some of his best-known poems, including many in verse forms new to Bengali, as well as some social and political
satire that was critical of his fellow Bengalis.

In 1891 Tagore went to East Bengal (now in Bangladesh) to manage his family’s estates at Shilaidah and Shazadpur for 10 years. There he often
stayed in a houseboat on the Padma River (the main channel of the Ganges River), in close contact with village folk, and his sympathy for them
became the keynote of much of his later writing. Tagore came to love the Bengali countryside, most of all the Padma River, an often-repeated
image in his verse. During these years he published several poetry collections, notably Sonar Tari (1894; The Golden Boat), and plays, notably
Chitrangada (1892; Chitra).

Sub questions

Question Number : 76 Question Id : 5038906717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per passage, in which year did Rabindranath Tagore receive the Nobel prize?
Options :

1. % 1941

2. % 1919

3. % 1903

4. %1913

Question Number : 77 Question Id : 5038906718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage “Manasi” is a collection of-
Options :

1. ® plays

2. ® essays

3. ¥ poems

4. ® paintings

Question Number : 78 Question Id : 5038906719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Why did Rabindranath Tagore go to East Bengal for 10 years in 18917
Options :

1. # to enjoy the natural beauty of East Bengal so that he could write
2. ¥ to manage his family’s estates at Shilaidah and Shazadpur
3. # to spend some time with people of East Bengal

4. % to learn painting from a famous painter of East Bengal

Question Number : 79 Question Id : 5038906720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following best expresses the opposite meaning to the given word “colloquial™?
Options :

1. # informal

2. % vernacular

3. ¢ literary

4. # demotic

Question Number : 80 Question Id : 5038906721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect according to the given passage?

Options :

1. # There Rabindranath often stayed in a houseboat on the Padma River in close contact with village folk.
2. ¥ Debendranath published poetry collections, Sonar Tari in1894 and plays, Chitrangada in 1892; Chitra.
3. % Rabindranath completed Manasi (1890), a collection that marks the maturing of his genius.

4. % Rabindranath was a Bengali poet, playwright, essayist, and painter who introduced new prose and verse.

Question Id : 5038906716 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following passage and answer the questions below.

Rabindranath Tagore, born May 7, 1861, Calcutta [now Kolkata], India—died August 7, 1941, Calcutta), was a Bengali poet, short-story writer,
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song composer, playwright, essayist, and painter who introduced new prose and verse forms and the use of colloquial language into Bengali
literature, thereby freeing it from traditiorjal models based on classical Sanskrit. He was highly influerjtial in introducing Indian culture to the

West and vice versa, and he 1s generally regarded as the outstanding creative artist of early 20th-century India. In 1913 he became the first non-
European to receive the Nobel Prize for Literature.

The son of the religious reformer Debendranath Tagore, he early began to write verses, and, after incomplete studies in England in the late 1870s,
he returned to India. There he published several books of poetry in the 1880s and completed Manasi (1890), a collection that marks the maturing
of his genius. It contains some of his best-known poems, including many in verse forms new to Bengali, as well as some social and political
satire that was critical of his fellow Bengalis.

In 1891 Tagore went to East Bengal (now in Bangladesh) to manage his family’s estates at Shilaidah and Shazadpur for 10 years. There he often
stayed in a houseboat on the Padma River (the main channel of the Ganges River), in close contact with village folk, and his sympathy for them
became the keynote of much of his later writing. Tagore came to love the Bengali countryside, most of all the Padma River, an often-repeated
image in his verse. During these years he published several poetry collections, notably Sonar Tari (1894; The Golden Boat), and plays, notably
Chitrangada (1892; Chitra).

Sub questions

Question Number : 76 Question Id : 5038906717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per passage, in which year did Rabindranath Tagore receive the Nobel prize?
Options :

1. # 1941

2. % 1919

3. % 1903

4. ¥ 1913

Question Number : 77 Question Id : 5038906718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage “Manasi” is a collection of-
Options :

1. ® plays

2. % essays

3. ¥ poems

4. ® paintings
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ancﬁnn Number : 78 ancﬁnn I1d - S0

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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8906719 Question Type : MCQ Option Shuffling : Yes I

Why did Rabindranath Tagore go to East Bengal for 10 years in 18917

Options :

1. # to enjoy the natural beauty of East Bengal so that he could write

2. ¥ to manage his family’s estates at Shilaidah and Shazadpur

3. # to spend some time with people of East Bengal

4. % to learn painting from a famous painter of East Bengal

i Question Mandatory : No Option
J r

Question Number : 79 Question Id : 5038906720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Which of the following best expresses the opposite meaning to the given word “colloquial™?

Options :

1. #® informal
2. % vernacular
3. ¥ literary

4. # demotic

Question Number : 80 Question Id : 5038906721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect according to the given passage?

Options :

1. # There Rabindranath often stayed in a houseboat on the Padma River in close contact with village folk.

2. ¥ Debendranath published poetry collections, Sonar Tari in1894 and plays, Chitrangada in 1892; Chitra.

3. % Rabindranath completed Manasi (1890), a collection that marks the maturing of his genius.

4. % Rabindranath was a Bengali poet, playwright, essayist, and painter who introduced new prose and verse.
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Question Number : 81 Question Id : 5038906722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

=t 3 @ wmeR o1 98 9 fawde e g?
Options :

1. ® YT + ARBHR

2. ¥ U9 + DR
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3. % g + fUgpR

4w ¢+ 3R h[I

Question Number : 81 Question Id : 5038906722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfARId O ¥ "TeR" &1 96! i fawg SH-a1 82
Options :

1. % YT+ HR[PR

2. ¥ U + DR

3. % O + fUqhR

4, % Y + DR

Question Number : 82 Question Id : 5038906723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
eI § & dagd <Teq T 0 BIfSTT-
Options :

1. ¥ Ay

2. % et

3. % XD

4. ® gA

Question Number : 82 Question Id : 5038906723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fEfaRad H T dagd XIeg &1 99 DifoTe-
Options :

1. ¢ R

2. % el

3. % AP
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4. % g

Question Number : 83 Question Id : 5038906724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T # 9 frd ree o v 781 82
Options :

1. ¥ 3qUdd

2. % fidrae

3. ¢ R

4. % forarg

Question Number : 83 Question Id : 5038906724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFffed # @ frd wee # e 181 82
Options :

1. ® 3qUdd

2. % firae

3. R

4. % forars

Question Number : 84 Question Id : 5038906725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ffifed o ¥ SH-91 Ysg goare I3 HT IS0 81 82
Options :

1. % M

2. % B

3. % dlgl

4. 90
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Question Number : 84 Question Id : S0B8906725 Question Type : MCQ Option Shuffling : Yes IS Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

f=foRad § @ o19-91 ¥se ouarie T 6T ISTeR0T Ta 82
Options :

1. % T

2. % A

3. % el

4. UH

Question Number : 85 Question Id : 5038906726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frefefad & 9 H-91 Wea "R BT yaigarE T8l 62
Options :

1. % fo

2. % 3Mpfd

3. ¢ UHAl

4. % yfdafers

Question Number : 85 Question Id : 5038906726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FrAfIRed & § SMH-91 Teg "6k &1 gargar Tol 67
Options :

1. % f

2. % fpfd

3. ¥ JHaI

4. ® yfafers
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Question Number : 86 Question Id : 50

Orientation : Vertical

38906727 Question Type : MCQ Option Shuffling : Yes I

Correct Marks : 1 Wrong Marks : 0.25

f=foRed o ¥ 2ree & Y& TU(EdHT) BT T8 Piford-

Options :

1. ¢ GRS
2. % GRDNYY
3. % GRADIY
4, % GRBIYY
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5 Question Mandatory : No Option

Question Number : 86 Question Id : 5038906727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=fRed o ¥ 2reg & g TU(@dHT) BT 98 Piford-

Options :

1. ¥ GRS
2. % R
3. % R
4. % gRHIYNE

Question Number : 87 Question Id : 5038906728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=foiaa & 9 siaTe" &1 faedH ¥sg SHIH-31 82

Options :
1. % 3{THAT
2. ¢ fagsi
3. ¥ TR
4. ® JHRAT

Question Number : 87 Question Id : 5038906728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=foRaa & § smare &1 fad| Tsg HIH-11 82

Options :
1. % 3THAT
2. ¢ fageH
3. ® TR
4, % JHRAT
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Question Number : 88 Question Id : 5038906729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fmfrad & O Weg-gr o e 31d-1g &1 99+ Bt

S{FUTRI- U
Options :

1. ¢ HI9 - Th 3ABR

2. % W1 g3fl- U
3. % 3R - TR
4. % FPH - ST

Question Number : 88 Question Id : 5038906729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfaRad o O wree-gm & T8t 31f-2e &1 997 BIfort-

SIFUIRI- U

Options :

1. ¢ YIS - T 3ABR

2. % W1 g3T- Ui
3. % 3R - TRig
4. % FHY - ST
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Questiomr Number—89-Questiomr td=5638906730 Question Type : MCQ Option Shuffling : Yes Is
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=ferfad § ¥ SH-91 a1 S YdhTd BT IaTeR0T 82
Options :

1. ¢ g araed faft-ondt ggt sma g

2. % YRA 3l §R IS I68 HY oiid gHhl |

3. % YR P I IS el B

4. % 3O FATN @l F 3T S|

Question Number : 89 Question Id : 5038906730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fEfRad & @ oF-91 a1 3 YddhTd BT 3CTe0 82
Options :

1. ¥ g arad feft-onft a8t ema g

2. % YRA &l §R IS I6e HY oiid gdhl |

3. % YRd B IR IS et g

4. % 1T AT o H 31 S|

Question Number : 90 Question Id : 5038906731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR H ¥ Tdhad Xeq BT 9T DIfoTu-
Options :

1. % aequ

2. ¥ Uhdl

3. % GBI

4. % AN
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Question Number : 90 Question Id : 5088906731 Question Type : MCQ Option Shuffling : Yes I$ Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAEfaRad ¥ 9 Udhaad Usg &1 99 Hifole-
Options :

1. % aequ

2. ¥ Uhdl

3. % AGHI

4. % SUAN

Question Number : 91 Question Id : 5038906732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I feu e are &1 fargrarey # uRafda &1, T8} firyares &1 9= ifoe-
T3 I HHAR! B! HA-ST R e ¢

Options :

1. % T3 3G FHAR Pl ST IR JE 8! 3

2. % T I HHARN Bt BT IR TIE B

3. ¢ I3 9T § foh 98 HHAR] Haaee g

4. % 98 HHARI ¢ ZTRIT q I7h! Hcd a1 IR g 2

Question Number : 91 Question Id : 5038906732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I feu Qe &1 frgraren # uRafda &1, I8! fisares &1 9u+ Pifoe-
I3 IY HHIR B HA-tsT R g g

Options :

1. % O3 IY HHIR! B S-S IR Yag 8! 8
2. % T I HHARI Pt HdST TR T8 B
3. ¥ Y3 9E § & a8 SHaR! o g
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4. % 98 HUAR! § THIIE oI 3P| HA-ST TR e 5
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Question Number : 92 Question Id : 5038906733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fEfeiRed & 9 S5 AT T o HifoTe-

Options :

1. % g8 $1 Y% WU & 3IHd 5|

2. % MUY fHAHR S/ Ue—Ta1 g |

3. % &b 1 B A Fel b HRA SART GV B
4. 319 Y ST B TRAATYU IR ThdT & |

Question Number : 92 Question Id : 5038906733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=fafad 3 Q g ot &1 999 SifvTe-

Options :

1. % I8 B AP WGHG & IHA 6|

2. % 3TN FAHR 3= U= g3 |

3. % fX1e/p 3 B A Hel fb YR sART ST &
4. ¢ 310 39 I P IXAIYYS HR Tl g |

Question Number : 93 Question Id : 5038906734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fr=ferfad o T qererT "S1d ¥d Uh g &1 T 31 g2

Options :

1. % gd BgTd ST

2. % gdldIed gl
3. ¢ G& a9l g
4. % 197G el
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Question Number : 93 Question Id : S0B8906734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fr=fafad B O qerert 'S/d ud Ue g &1 T 31 g2
Options :

1. % Qd Hg-Td DAl

2. % gdldIed gl

3. ¢ g9 991 g

4. % {9 US|

Question Number : 94 Question Id : 5038906735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

f=fefad & I fog deifad o1 a1 et axg fpd T8t St Tl 82
Options :

1. % 3ift I St @ |

2. ¥ 30 T8l DI WeT HH el o |

3. % 3N VI SNYST Sl (bl Tl T |

4. % YT T AN T gl

Question Number : 94 Question Id : 5038906735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fefoRed # 9§ fow deifaa &1 3 "3t axq ford 81 Srea! Tl /2
Options :

1. % 3¢ 4N e @A |

2. ¢ 30U T8l P WSl HI- Hedl g

3. % 3N &¥Id SNUST Sl (bl I &1y |

4. % 33l W I T grei |
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Question Number : 95 Question Id : 5088906736 Question Type : MCQ Option Shuffling : Yes I$ Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fow e gt & = B 9 far fareg &1 T e o man 82
TR T TR A S1p & HeT1 8 "eiR-eR po 7T fiyeran, Ry @ frewdt 2

Options :

1. % vl fag

2. % 3feqfaH forg
3. % OIS g

4. iR fag

Question Number : 95 Question Id : 5038906736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T feu U o o f= 1§ 9 oo forg 1 iy =1t fopan R g2
AR T a1 A 31 g1 el § "dR-IR $o 781 fireran, R A e 8

Options :

1. % I g

2. % 3ffaRH fog

3. % giodh fog

4. ¥ G forg

Sub-Section Number : 2

Sub-Section Id : 503890315
Question Shuffling Allowed : Yes

Question Id : 5038906737 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

R eIt T STYde 3erd R URAT o IR alfort-
SR ST e, Hiast Fgwaur 81 98 iR 3 stear 81 78 ek I steqr yf & wa g1 4 7 & Afasd &1 iR @ ST g | 98
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TG 3R TS AR & $S U ATICUS Udd Bl ¢ off g1 3ed PR ¢ I | W B W J Ul I8 R 81 T I IhR Y
qehd 81 54 fo1u STt iR SURET 1T S1axae & | MYfdh R e atad el ool | 98 YE1-AE 8l ol 5| TR 3R el &l

T R1e I a3 31 8| AR S0 a1 81 711 & | IR 1 31 & RIRNuneare oferd | 58 IRI-BIe 9 e g1 &
USdl g, 7 dal, 7 4 | g9 IR IR g Iadhr A 384 & | IS B I8 § b et o1 Ruferd wysg 1R T sififérd 81 S iR uap a1
IR B Sl I SRISR Foxdl 8T § 3R IUP 378 Bl IS edl gl

Sub questions

Question Number : 96 Question Id : 5038906738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S TR & TR, MY e 86 Sad ¥ dfrd 3@ 8, dife a8
Options :

1. ¢ foual B Qe HE TR R

2. % %I Hifde favdl &1 I Heh 5 |

3. % Had e f[Avdl &7 I BRI 6|

4. % $HaA HaA (AT BT JH B 5

Question Number : 97 Question Id : 5038906739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
=i B O SR § S1H9-91 IuAT 82
Options :

1. % 39

2. % 3

3. % QA

4. 3

Question Number : 98 Question Id : 5038906740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TR & TR, YD R T8 F «38” B Igi1% BT GBI HRUI ISP gl

Options :
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Question Number : 99 Question Id : 5038906741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U T b TR &1 g ey d Tiftrd w= fean §1

Options :

1. ¢ Tifed iR &l
2. % gifgd

3. % Hal

4. % 3R

Question Number : 100 Question Id : 5038906742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UG TR & IR $IH-TT HYF Tl ol 52
Options :

1. % 3MYfIeh & gH Sifeed ol adl |

2. % JYFD RI&T GE1-0H & &cll 5|

3. ¢ 3R o el sTeg Ram g

4. % g SR el Bl gHA 1RIed b HIHd B G 5

Question Id : 5038906737 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

=TI IR FT AT ® S B U=AT b IR Glorl-

SR ST g, Hiast Fgwaur g1 98 iR I Siear 81 78 WieRk I sieqT ¥ & T4 § | 4 A &1 Afadhd &1 iR o ol 5| 98
HfGTd 3R FHIS IER & $& U4 AIUGUS UK HRl ¢ off 1 3od IR ¢ Id | T Bl TR ¥ Ul I8 R 81 T 3= UhR Y
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Sub questions

Question Number : 96 Question Id : 5038906738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UG TR & IR, MY e g8 sered ¥ dferd 1@l &, b a8
Options :

1. ¢ fowal &t gee-AE <t B

2. % Had Hifae fawdl &1 I BRI 5|

3. % 9 Al [Iudl &1 4 e 5

4. % HId Hl [ATG} BT JH BRI S|

Question Number : 97 Question Id : 5038906739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frefeRad & 9 3= & -9 U9 82
Options :

1. % 39

2. % 3

3. % QA

4.9 37

Question Number : 98 Question Id : 5038906740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TR & TR, YD RIfed a7s § <38 BT I B GBI HRUT S| gl

Options :
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Question Number : 99 Question Id : 5038906741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUad TR & IR ®I g9 RIey d Wity a= fear g1
Options :

1. ¢ 9igd 3R el

2. % g

3. % ddl

4, % IR

Question Number : 100 Question Id : 5038906742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TR & SR DIH-91 HU Tl To1 62
Options :

1. % 3Yep & gH STeed Te! il |

2. % 3MYFH e YE1-aE 8t &t g

3. ¢ SR Wi 161, aTed e g

4. % g 3R Bl Bl gHA 1RIed qh i B &1 g
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Question Number : 101 Question Id : 5038906743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The word 'Science' originates from:
Options :

1. #® Scientai

2. ® Scenti

3. ¥ Scientia

4. ® Scientis

Question Number : 101 Question Id : 5038906743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

GET IT ON

Google Play

Addai247

g (o) Bt Sy fbg T A g2

Options—:
1. % Qgerg
2. % &
3. ¢ g
4. % gy

Question Number : 102 Question Id : 5038906744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mark an incorrect match.

Options :

1. # Archimedes : Principle of buoyancy; Principle of the lever

2. # James Clerk Maxwell: Electromagnetic theory; Light is an electromagnetic wave
3. ¥ W.K.Roentgen : Ultra short radio waves

4. % Christiaan Huygens : Wave theory of light

Question Number : 102 Question Id : 5038906744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Terd fore &1 fafgd R

Options :

1. % MBS : IEAaD I B 494, e BT T

2. % SR I HIAd: faggd daad Rigid, UHTRI T faggd-gadig a3 8
3. ¢ &g, & o : 3ffcerg e at

4. % TOHTg TN : UHTRI T AT Rigid

Question Number : 103 Question Id : 5038906745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
One second is defined as the time required for a atom to undergo 9192631770 vibrations between two hyperfine levels of its
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ground state.

Options :

Google Play

1. ¥ Cesium — 133
2. #® Francium — 223
3. # Rubidium — 85
4. % Cadmium — 112

Question Number : 103 Question Id : 5038906745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRATY] &1 301 Ja FRUfd & & 3ifcRged TRl & o9 9192631770 HHH B & 01 SHTaad 90T B U Jobs & w0 d
gRuIid fpar M gl

Options :

1. ¢ Siferad - 133
2. % TR/ - 223
3. % SfJaIgH - 85
4. % ST - 112

Question Number : 104 Question Id : 5038906746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the relative strength of strong nuclear force?
Options :

1.¥ 1

2. %10

3. % 100

4. % 1000

Question Number : 104 Question Id : 5038906746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TSd TS T BT AU Taerdl 1 5?2
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Options :
1 o |

2. %10
3. %100
4. % 1000

Question Number : 105 Question Id : 5038906747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who introduced the concept of antiparticle?
Options :

1. ¢ Paul Dirac

2. % Carl Anderson

3. # Niels Bohr

4. ® Tycho Brahe

Question Number : 105 Question Id : 5038906747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ul Ul b1 Yeheu1 forg afauTied o2
Options :

1. ¢ Uid {3

2. % PHIdl TS

3. % e dR

4. % THI SR

Question Number : 106 Question Id : 5038906748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is defined by Newton's first law of motion.
Options :
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1. # Energy
2 % Waork

3. ¥ Inertia
4. % Moment of Inertia

Question Number : 106 Question Id : 5038906748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TeAHMaFmEfaad oRuilagiarg|
Options :

1. % 3

2. % By

3. ¥ Slgd

4. % S5 3ol

Question Number : 107 Question Id : 5038906749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following scientific principles does the working of optical fibres depend on?
Options :

1. # Thin film optical interference

2. ¥ Total internal reflection of light

3. % Reflection of ultrasonic waves

4. ® Photoelectric effect

Question Number : 107 Question Id : 5038906749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % TIUHeH UhTRI HAfdDhRul


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

GET IT ON

Google Play

Addai247
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Question Number : 108 Question Id : 5038906750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mark the incorrect statement regarding Gravitational force.

Options :

1. #® The gravitational force is the force of mutual attraction between any two objects by virtue of their masses
2. % Itis an universal force

3. ¥ Unlike electromagnetic force, the range of gravitational force is not infinite

4. % All objects on the earth, experience the force of gravity due to the earth.

Question Number : 108 Question Id : 5038906750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS@IHYU g & Jae T Ted Y DI fifgd H |

Options :

1. ® TSIy 9 fhal &l fUUSt & ofa 3% GoaHH! o HIRUT T aTal SATHYUT §d §
2. % U UH WGaHD 9 §

3. ¢ fegd gt 9a & fausld, Tearmyor aa i 9 oFd T

4. % Tt TR ot oy g & HRUT THATH Y §¢ BT SHFHT HRll g

Question Number : 109 Question Id : 5038906751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mark the correct relation with respect to the strength of the forces, out of the following -
Options :

1. ¥ Electromagnetic force > Gravitational force

2. # Electromagnetic force < Gravitational force
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3. # Electromagnetic force = Gravitationjal force
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Question Number : 109 Question Id : 5038906751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fFafaRed # O 9 &1 dIdhd & Ta¢ H el dae &I Fafgd &e-

Options :

1. ¢ faggd g1 9 > TSAH YU §d
2. % fIggd TP §d < TSATHY g
3. % fiqgd TP g9 = [AIHYU I

4. * fyiRa et fpur S g

Question Number : 110 Question Id : 5038906752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Who had dismissed the possibility of tapping energy from atoms?

Options :

1. ¢ Rutherford
2. % Hahn

3. # Meitner

4. ® Tesla

Question Number : 110 Question Id : 5038906752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TRUTUL3T ¥ FHoll b Gle ! UG DI fohe @R foar or

Options :

1. ¥ TEBIS
2. % g

3. % AT
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4. % oI

Question Number : 111 Question Id : 5038906753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following works was not performed by Albert Einstein?
Options :

1. ® Static model of the universe which started modern cosmology
2. % Quantum statistics of a gas of massive bosons

3. % A critical analysis of the foundation of quantum mechanics

4. % A new derivation of Planks law.

Question Number : 111 Question Id : 5038906753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT & Q& W SR 3eac TS GRT ol [T 7T T2
Options :

1. % Sl &1 RR ared A nyfAd seiis A &l YeeiTd &l
2. % g3 UM (FYRTd) TR S P 719 & SHicH 3iids (AT
3. % HicH giF®! &I id BT TS Heayul faayor

4. ¥ Wi 90 1 T 4419 g

Question Number : 112 Question Id : 5038906754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The electric force between two protons is times the gravitational force between them for any fixed distance.
Options :

1. % 10%

2. ¢ 103

3. % 1038

4. % 10%0
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Question Number : 112 Question Id : 5038906754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

foreht fAf3ra g8t & forg 31 et & oia &1 dggd 9d I &I @ Teardh YUl ad I T g g

Options :
1. % 103

2. ¢ 1030
3. % 1038
4, % 1040

Question Number : 113 Question Id : 5038906755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The strong nuclear force is not applicable between -
Options :

1. # A proton and a proton

2. % A neutron and a neutron

3. % An electron and a proton

4. % A proton and a neutron

Question Number : 113 Question Id : 5038906755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fpa & ofd yeet AP 50 A Tel 81T 82
Options :

1. % TP UieH 3R T UieH

2. % U g 3R Th JgH

3. ¢ UH 3qdCi 3R T Uiei-

4. % TP UIeH 3R U g2
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Question Number : 114 Question Id : 5038906756 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The distances traversed, during equal intervals of time, by a body falling from rest, stand to one another in the same ratio as the odd numbers
beginning with unity [namely, 1: 3: 5: 7......].” This is known as law of odd numbers.

Options :

1. ¥ Galileo’s
2. % Bruno’s

3. # Newton’s
4. # Kepler’s

Question Number : 114 Question Id : 5038906756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. Tferferan
2. % g

3. % e
4. ® PR

Question Number : 115 Question Id : 5038906757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a scalar quantity?
Options :

1. # Total Linear Momentum

2. # Total angular momentum

3. # Force

4. ¥ Energy
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Question Number : 115 Question Id : 5038906757 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFafRed & O DIl U Sifea=T IR 52
Options :

1. % $d Iy Tl

2. % Pl DIV HaTl

3. % dd

4. Zoll

Question Number : 116 Question Id : 5038906758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who correctly predicted in 1931 the existence of a new particle (now called neutrino) emitted in B-decay along with the electron?
Options :

1. ® Werner Heisenberg

2. ¥ Wolfgang Pauli

3. # Max Born

4. ® Niels Bohr

Question Number : 116 Question Id : 5038906758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frTm av 1931 H SAae & 1Y diel fS$o & I Th Tai- BT (S 316 il Had §) & 31dd BT el YaigH T 1
Options :

1. % GR gIgoa

2.« GBI Ot

3. % Aag g

4. % Fl@ar

Question Number : 117 Question Id : 5038906759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

GET IT ON
Google Play

Addai247

Correct Marks : 1 Wrong Marks : 0.25

What is arcminute in radian?

Options :

1. % 391 x 10 rad
2. % 0.91 x 10 rad
3. % 191 x 10 rad
4.% 291 x 10 rad

Question Number : 117 Question Id : 5038906759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3T e, ST & fha gl g2
Options :

1. % 391 x 104 rad

2. % 091 x 10 rad

3. % 191 x 10 rad

4.9 291 x 10 rad

Question Number : 118 Question Id : 5038906760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A tower is observed from two opposite points on the ground. The angle subtended at the tower by the two directions of observation is 1°54".
Given the distance between the two points is about 1.276 m compute the distance of the tower from any of the point. (Use 360° = 2 rad)
Options :

1. % 3.84 X 10°m

2. ¥ 0.384 X 10°m

3. % 384X 10°m

4. % 384X 10”m

Question Number : 118 Question Id : 5038906760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1.276 Hiex g, fraft ot fig & erer &1 g8 &1 TUFT B3 1 (360° = 27 rad T TATT &)

Options :

1. % 3.84 X 10°m
2.9 0.384 X 10’m
3. % 384X 10°m

4. % 3.84%102m

Question Number : 119 Question Id : 5038906761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The molecular size of oleic acid is in the order of-

Options :

1. % 107m
2. % 108 m
3.¢10°m
4. % 10710y

Question Number : 119 Question Id : 5038906761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3RS S BT U HDHR b HH H 82

Options :

1. % 107m
2. % 108m
3.9 10°m
4. % 10710m
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Question Number : 120 Question Id : 5

38906762 Question Type : MCQ Option Shuffling : Yes

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The kelvin, is the fraction

Options :

1. # 1/189.67
2. % 1/176.86
3. % 1/327.26
4. ¥ 1/273.16
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[s Question Mandatory : No Option

of the thermodynamic temperature of the triple point of water.
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Question Number : 121 Question Id : 5038906763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The ratio of the longest and shortest lengths of objects in our universe is about -

Options :
1. ® 103
2. % 1040
3. ¢ 104
4. % 1042

Question Number : 121 Question Id : 5038906763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 122 Question Id : 5038906764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following events has the least time interval?
Options :

1. # Period of atomic vibration

2. ¥ Period of x-rays

3. # Period of light wave

4. % Period of radius wave

Question Number : 122 Question Id : 5038906764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % TRUY] U DI 3dfd

2. ¢ URIX B 3{afy

3. % YT R bl 3fafy

4. % ST AT I 3fafy

Question Number : 123 Question Id : 5038906765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Life span of most unstable particle is in the order of
Options :

1. ¥ 10243

2. % 10238

3. % 10228
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Question Number : 123 Question Id : 5038906765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ 10°%4S

2. % 1023

3. % 10228

4. % 1021

Question Number : 124 Question Id : 5038906766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The magnitude of the difference between the individual measurement and the true value of the quantity is called the error of the
measurement.

Options :

1. # Relative

2. % Percentage
3. # Least count
4. ¥ Absolute

Question Number : 124 Question Id : 5038906766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. % Qe

2. % giawrd

3. % 3fUdHID
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Question Number : 125 Question Id : 5038906767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The potential difference and current is given as (10£0.5)V and (10+0.3)A for an electrical circuit. Find the percentage error in finding the
resistance.

Options :

1. % 2 percent
2. % 3 percent
3. # 7 percent
4. ¥ 8 percent

Question Number : 125 Question Id : 5038906767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 2 gfaerd

Question Number : 126 Question Id : 5038906768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Suppose the period of oscillation of a simple pendulum is 1.62 s, then the digit 2 is known as:
Options :

1. # certain

2. % reliable

3. ¥ uncertain

4. # significant
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Question Number—+126-Question1d-:-5038906768 Question Type : MCQ Option Shuffling : Yes
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % fAf¥q

2. % fayoHr

3. ¢ JfAfa

4. % HEQYUl

Question Number : 127 Question Id : 5038906769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The dimensional formula of force is-
Options :

1. % [MCL T2

2. % [ML°T?]

3. % [MLT]

4. ¥ ML T?

Question Number : 127 Question Id : 5038906769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % [MCL T2

2. % [ML°T?]

3. % [ML T

4. ¥ [MLT?
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Question Number : 128 Question Id : 5p38906770 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following has no dimension?
Options :

1. # Density

2. ¥ Angle

3. # Kinetic energy

4. ® Mass density

Question Number : 128 Question Id : 5038906770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® I9d

2. ¢ BT

3. % Tl Sl

4. % GOAM 9

Question Number : 129 Question Id : 5038906771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Dimensional analysis can be used to check the Dimensional  of equations.
Options :

1. ¥ Consistency

2. ® Inconsistency

3. # Validity

4. ® Rigidity

Question Number : 129 Question Id : 5038906771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ fRRRa
2. % SRR
3. % fafemr=gan
4. % Tgdl

Question Number : 130 Question Id : 5038906772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Xg+Vet + Zat®

The dimensional formula of the given equation is:
Options :

1. % [MLT]

2. ¥ [M°L T°]

3. % [M°L T2

4. % [ML*T?

Question Number : 130 Question Id : 5038906772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Xo+Vet + at?
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Options :

1. 8 [MLT]

2. ¥ [M°L T

3. % [M°L T2

4. % [ML*T?
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Questiom Number—131Questiomr td—-5038906773 Question Type : MCQ Option Shuffling : Yes
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The position - time graph for an object moving with negative velocity is-

Options :

TJ‘\

X

A 4

1. ® t—>

W

2. ¢ =

W
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Orientation : Vertical
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Question Number : 132 Question Id : 5038906774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following shows zero acceleration?

Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :

1

X b

M

k' 4

.0 t—>
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Question Number : 132 Question Id : 5038906774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad § 9 S W% Y R0T T ]2
Note: For this question, discrepancy i1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :
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Question Number : 133 Question Id : 5038906775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does the following graph indicate?
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Options :

1. # Motion in positive direction with positive acceleration.
2. ¥ Motion in negative direction with negative acceleration.
3. # Motion in positive direction with negative acceleration.

4. ® Motion of an object with negative acceleration that changes direction at anytime.

Question Number : 133 Question Id : 5038906775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 134 Question Id : 5038906776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The advantage of the method of calculus for deriving the equations of motion for constant acceleration is that-
Options :

1. % It can be used for motion with non-uniform acceleration also.

2. # It can be used for motion with instant acceleration also.

3. # It can be used for motion with linear acceleration also.

4. % Tt can be used for motion with effective acceleration also.

Question Number : 134 Question Id : 5038906776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR aRUT & e 71fal & HRUN &bl Ui R4 & foTT 3raed Tford i fafd &1 &y Ug § fob-


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

Options :

1 TH] IUINT 3R 30l &b T

e

7

fa & forg off fopan ST g 21

2. % IYBT ITANT ARV &0 b 1Y TTid & forw +ff fovar o Ipar g

3. % 3BT IUINT ¥RAPH 0T & 1Y Tfa & forw +ft fovan s aepar g
4. % BT IUTNT YHTA! aR0T & 1Y Tfd & forg +ft fopan ot g 81

GET IT ON

Google Play

Question Number : 135 Question Id : 5038906777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A body is thrown with a velocity of projection 49 ms™! at an angle of projection 45°. Find the Range (g =9.8 ms‘z).

Options :

1. % 240 m
2.¥245m
3. % 250 m
4. % 278 m

Question Number : 135 Question Id : 5038906777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fiS B 45° B BT 49 ms! P YA T Y BT ST & | TR 1 DI (g = 9.8 ms™2)

Options :

1. % 240 Ht
2. 245 W
3. % 25011
4. % 278 Y

Question Number : 136 Question Id : 5038906778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

It is the time a person takes to observe, think and act. It is-

Options :
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1. #® Response time
2% Effective time

3. ¥ Reaction time

4. ® Reduction time

Question Number : 136 Question Id : 5038906778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Yidfhdr T0g (3fohar el

2. % gYIG gu9g

3. ¢ Ufdfhar a9y

4. % FAqH T

Question Number : 137 Question Id : 5038906779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does the following graph indicate?

i
I
f 9 a2 @ BT

x)

Options :

1. ¥ Position-time graphs of two objects with equal velocities.
2. ® Position time graph of two objects with parallel velocity
3. % Position time graph of one object in different positions

4. ® Position time graph of one object with two different velocities
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Question Number : 137 Question Id : SD38906779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 138 Question Id : 5038906780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The direction of null vector

Options :

1. #® Can be specified

2. % Cannot be specified

3. # Always east

4. ® Always west

Question Number : 138 Question Id : 5038906780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 139 Question Id : 5038906781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not a property of zero vector?
Options :

— =

1 % A+0=4 (For any vector A)
) % aﬁ=ﬁ(for any scalar o)

5 — 0=0 (for any scalar )

<

4 % 04A=0 (for any vector A)

Question Number : 139 Question Id : 5038906781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 140 Question Id : 5038906782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The value of R in the above figure is-

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.

Options :
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Question Number : 140 Question Id : §

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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38906782 Question Type : MCQ Option Shuffling : Yes
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Note: For this question, discrepancy i1s found in question/answer. So,this
question 1s 1gnored for all candidates.
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Question Number : 141 Question Id : 5038906783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not a property of unit vector?

Options :

1. ¢ It is present only in a particular axis

2. % It has no dimensions

3. # it is used to specify a direction only

4. ® Its magnitude is unit
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Question Number : 141 Question Id : 5038906783 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Google Play

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 142 Question Id : 5038906784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let there be a vector A in a plane. Which of the following factors of A can't be specified?
Options :

1. # Its magnitude is |A|

2. % The direction 0 it makes with the x Axis

3. % Its components A, and A,

4. ¥ 1Its position

Question Number : 142 Question Id : 5038906784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A ST {5 T THaa & T 9w A 1 A BT HYIRad & ¥ &IF 91 RS ey Tl fohdr o HobaT g2
Options :

1. % ZbT URATT |A| R

2. % x0T 0 TG x 3M& P T FI g

3. % SHH YD A, AR A, ®

4. ¥ 3T fRufq

Question Number : 143 Question Id : 5038906785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is known as Law of cosines?

Options :
E=inB
Tanox =
1. W A+Bcos=8
R A E

, % Sind Sinf  Sina

3 R=+A? +B2— 2ABcosb

i Bcos0
4 % A +Bsin®

Question Number : 143 Question Id : 5038906785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgfefed & 3 5 Siear & g9 & =0 J SF1 9ar 82

Options :
E=sinf
Tana =
1. # A+Bco=8
R A B

) % Sin@  Sing  Sina

3« R=+A? + B2 — 2ABcosb

Tana — EBcosB
4 % ~ A+Bsin8
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Question Number : 144 Question Id : 5038906786 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who first stated the independency of the horizontal and the vertical component of projectile motion?
Options :

1. ¥ Galileo

2. % Newton

3. % Einstein

4. ¥ Edwin Hubble

Question Number : 144 Question Id : 5038906786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gew T & ifasT Ud SeafeR gew! o) Wda UHa &1 Jeeid Fauyd foaq faar um
Options :

1. ¢ Trefiferan

2. % oA

3. % IS

4. % TSfA ged

Question Number : 145 Question Id : 5038906787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a projectile is thrown with a velocity v that makes an angle 6, with the X axis, then equation of path of the projectile is-

Options :
. Y = (tanfy ) x— ——x2

vy cosfy

1.

2rgcosd,

- Y =(tanf,)x — ———x?
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Question Number : 145 Question Id : 5038906787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& Th & B AT v, J BT ST § ST X 318 P AT BIVT 0, T &, T T&H & G BT GHIH &-

Options :

1.

Y =(tanf, )x —
2. ®

Y =(tanf, )x —
_, ¥ =(tanf)

w Y = (tanf, ) x —

. Y =(tanf, ) —

)

g cosfy

q

2rpcosd,

q

2rycosd,

q

2{vycos8;)°

Question Number : 146 Question Id : 5038906788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does "Centripetal" mean?

Options :
1. #® Central

2. ¥ Center seeking
3. ¥ Around the center
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4. ¥ Away from center

Question Number : 146 Question Id : 5038906788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"3t BT 31 T B2

Options :

1. % gl

2. ¥ $Hg-HYE

3. % g & MUY

4. % &g d faga

Question Number : 147 Question Id : 5038906789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For a particular radius of a circular path the relation between the frequency of revolution and the centripetal acceleration is-
Options :

1. % EEEW

) % a, X 1fv
3. 8 XV

4 % Q< 1/v?

Question Number : 147 Question Id : 5038906789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP JATHR UY P U AR B & e ufkesor &t srafy SiR sifidhila @rur & o9 dee &-
Options :

1. % BV
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Question Number : 148 Question Id : 5038906790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who first gave the view that if a body is moving, something external is required to keep it moving?
Options :

1. ¥ Aristotle

2. ¥ Democritus

3. % Kanada

4. ® Copernicus

Question Number : 148 Question Id : 5038906790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oY Ued fora I8 famr faan % afe 3 s wifo & o 39 o 3@ & forg foreht amedt <iet 3 sira=gasd giet 8
Options :

1. ¢ 3R

2. % 3HIfhey

3. % HAlS]

4. % DIRMADY

Question Number : 149 Question Id : 5038906791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In terms of acceleration, the state of rest and the state of uniform linear motion are-
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Options :

1 b Qnnosite
- PPoste

2. % Contradictory
3. % Similar
4. ¥ Equivalent

Question Number : 149 Question Id : 5038906791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RO b G T, TR &1 a7 SR Ui YR T B SR 8-
Options :

1. % faudid

2. % fRIUTH™

3. % gU=U

4. & JHDE

Question Number : 150 Question Id : 5038906792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who concluded that the Milky way derived its luminosity because of a large number of stars not visible to the naked eye?
Options :

1. # Copernicus

2. ¥ QGalileo

3. % Aristotle

4. % Newton

Question Number : 150 Question Id : 5038906792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 151 Question Id : 5038906793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A high rate of change of momentum will be ensured if there is-
Options :

1. ¥ A high change in force

2. % A slow change in force

3. # No change in force

4. ® Infinite change in force

Question Number : 151 Question Id : 5038906793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o IR & Uh I & YAfd &1 st afe-
Options :

1. ¢ gfe 9 H Ub I UREdA 8l

2. % e 9 ¥ U e uRad 81

3. % i 9 O IS URdd A3l

4. % i 90 H 3fd URdaH gt

Question Number : 152 Question Id : 5038906794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which is not an important point about the second law of motion?
Options :

1. # The second law is obviously consistent with the first law.
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2. ¥ The second law of motion is not a vctor dependent law.

3_# The second law of motion is npp]i(‘ ble to a Sing]e point partic]e.

4. ® The second law of motion is a local relation, which means that force at a point in space at a certain instant of time is related to acceleration
at that point at that instant.

Question Number : 152 Question Id : 5038906794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I R 1 i Frem & aR 7 06 Aoyl g T8 &

Options :

1. % GIRT B WF Y Y Ugd 90 & 3=u 7|

2. « T 1 feelta FAaw wfewr snfda Fam =gt 81

3. % T BT gORT i Tt fig U R An gaT B

4. % gﬁﬂ?ﬁg%ﬂnﬁwwwﬁnﬁawiMaﬁ%%w%%ﬁ%wmw@ﬁwmmmwﬁmﬂﬂﬁgm
[CRUYI I

Question Number : 153 Question Id : 5038906795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which statement is true for Newton’s third law of motion?

Options :

1. # The terms action and reaction means nothing but momentum.

2. ¥ The terms action and reaction in the third law may give a wrong impression that action come before reaction.
3. # Action and reaction force act on the same body.

4. ® Action and reaction both are cause and effect simultaneously.

Question Number : 153 Question Id : 5038906795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & T & IR g8 & o o9 W Sy 9 82
Options :

1. % forar ofR ufdfehan Weg &1 o1 TIfd & 3rarar iR @ T8l 8|
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Question Number : 154 Question Id : 5038906796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A car moving at 5m/s on a road, takes a turn in a circular road of radius 4m without decreasing the speed. The coefficient of static friction
between the wheel and the road is 0.2. What will happen while taking the turn?

Options :

1. ¥ The car will slip

2. % The car will not slip

3. % The car moves steadily
4. % The car will roll

Question Number : 154 Question Id : 5038906796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP HR JSH W 5m/s DI 110 F T 35! 8| I8 4m BT B T qAIHR TSP | 7 1 HH 6T fo1 U g At 81 ufedr iR Is& &
o RIfde a8 &1 01 0.2 81 ASd 9T (S ad JHd) 71 g2

Options :

1. ¥ SR {hyd Sreedt

2. % HR e a8l

3. % HR AR I @

4. % HR b Suil

Question Number : 155 Question Id : 5038906797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1 calorie is equal to—

Options :

1. % 6.183]
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2. % 5456
3w 41861

4. % 2378]

Question Number : 155 Question Id : 5038906797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1 HARY (cal) P SRTSR Bl 8-

Options :

1. % 6.183]

2. %5456]

3.9 4186 ]

4, % 2378

Question Number : 156 Question Id : 5038906798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For constant force and displacement the value of work done is maximum when the angle between them is-
Options :

1. ¥ nrad

2. % /2 rad

3. % n/3 rad

4. % m/4 rad

Question Number : 156 Question Id : 5038906798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3R 9 SR faRITU & foru fohw 7T B &1 A SHfdeha gl & SId Sd> slldl BT B0 Bil o-
Options :

1. ¥ mrad

2. % m/2 rad

3. % 7/3 rad
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4. % 1/4 rad

Question Number : 157 Question Id : 5038906799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The kinetic energy of 3.5 x 1072 kg of rain drop at a terminal speed 9 m/s is about:
Options :

1. % 35x10°7J

2. %35x1073]

3.% 12x10727

4.4 14x103]

Question Number : 157 Question Id : 5038906799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3.5 x 1075 kg B IR BT GG B! TcTol Sroll T &, Forae! AH a7 9 Hiex/Adhrs g2
Options :

1. % 35%x10%]

2. % 35x103)

3.% 12x1073)

4.9 14%x103 ]

Question Number : 158 Question Id : 5038906800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A toy car is moving with a velocity of 2m/s. Its mass is 1kg. It enters into the rough path and moves from 0.10m to 2.01m. The retarding force
(Fy) on the car in this path is inversely proportional to the path (x) over this range,

Fy=-k/x For 0.1 <x<2.0lm

=0.Forx<0.1 Andx>2.0lm
Where k = 0.5 J. Find the final speed of the car.

Options :
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1. ®¥ 2m/s
2 lmlis

3. % 4m/s
4. % 3m/s

Question Number : 158 Question Id : 5038906800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T RIAHT BR 2m/s S AT Y A 61 6| STDBT SAAM kg & | TE GRGL I | YA et g 3R 0.10m F 2.01m b g 5 | 39 T H HR
R Hedh 94 (F,) FufeiRad T W uy (x) & Gepdrurd gidT 8,

F, =-k/x 0.1 <x<2.0lm & folQ

=0.x<0.1 3R x>2.01m & Y
S8l k = 0.5 J R DI fdH i I BT
Options :

1. ® 2m/s

2. ¥ Im/s

3. % 4m/s

4, % 3m/s

Question Number : 159 Question Id : 5038906801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which statement is false for spring constant?
Options :

1. ¥ Its unit is Nm

2. % The spring is said to be stiff if K is large
3. % Its unit is N/m

4. % The spring is said to be soft if K is small

Question Number : 159 Question Id : 5038906801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 160 Question Id : 5038906802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The approximate energy associated with thunderstorms is:

Options :

1. ¢ 1015
2. % 10147
3. % 1013
4. % 1012

Question Number : 160 Question Id : 5038906802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

YSITI (TRS b 1Y auf) & T TS AT ol &:

Options :

1. ¥ 101]
2. % 1014
3. % 1013
4. % 10127
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Question Number : 161 Question Id : 5038906803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The speed of an elevator is 2m/s when it carries a maximum weight of 1800 kg.The opposing force experienced by the elevator is 4000N. What

is the minimum power delivered by the motor?

Options :
1. ¥ 59hp
2. % 47hp
3. # 57hp
4. % 63hp
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Question Number : 161 Question Id : 5038906803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TS oI BT AT 2mv/s § 19 T8 o SHHM 1800 T BT 98- vl & | fete GRT Sgya fowa T farielt S1a 4000N § 1 HIeR GRT &f ST
qTeft =g ife 82

Options :

1. ¥ 5%hp

2. % 47hp

3. % 57hp

4. % 63hp

Question Number : 162 Question Id : 5038906804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A constant power is applied to a body, so the body is moving unidirectionally. Now at any time t, the displacement of the body is proportional to
Options :

1. % i’

2. ¢ 137
3 % tS..-’E

4, % 1732

Question Number : 162 Question Id : 5038906804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TP I R U Ffd 9 (fd) e g, R a¥q s1icer U § 31 g 5| 31d fordt off 979 « IR 9 1 faimA |
3TUT Bidl & |

Options :
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1 ® t

2.« t3/2
3 ® .tE,I’E

4 % t732

Question Number : 163 Question Id : 5038906805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The movement of the axis of the spinning top around the vertical is termed as
Options :

1. % Rotation

2. ® Oscillation

3. % Spinning

4. ¥ Precession

Question Number : 163 Question Id : 5038906805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SER S IR AR DI LI PIAD eI oIl
Options :

1. % goiq

2. % QIAGHM

3. % fauf

4, ¥ RER

Question Number : 164 Question Id : 5038906806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Options :
1. % 4170

ductford = 2i-4j - 3k and b = -31+j + 3k
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Question Number : 164 Question Id : 5038906806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=21 4j - 3k 3R b =31+ + 3k % T AT er OTeAHeT H1 IRATOT F4T 2

Options :
1. % /170

» % /180

Question Number : 165 Question Id : 5038906807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation

Correct Marks : 1 Wrong Marks : 0.25

: Vertical
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The length of an iron bar is 0.7 m and its mass is 4 kg. The bar is supported on two knife edge placed P.1 m from each end. A load of 6 kg is
suspended at 0.3m from one end. What are the reactions at each of the knife edges?

Options :

1. % 55N and 21N
2. % 43N and 25N
3. % 55N and 43N
4. ® 37N and 63N

Question Number : 165 Question Id : 5038906807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 55N 3R 2IN
2. % 43N 3R 25N
3. ¢ 55N 3R 43N
4. % 37N 3R 63N

Question Number : 166 Question Id : 5038906808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What shall be the moment of inertia of a thin rod of length L along the axis perpendicular to rod at mid point?
Options :

1. % ML/12

2. ¥ ML?/12

3. % ML%/10

4. % ML%/14

Question Number : 166 Question Id : 5038906808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. 8 ML/12
2. ¥ ML%/12
3. % ML%/10
4. % ML%/14

Question Number : 167 Question Id : 5038906809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mass of a uniform metal rod is M and length is 1. Find the moment of inertia of the rod about an axis perpendicular to it through one end.
Options :

1. ¢ MI%/3

2. % MI%/4

3. % MI%/12

4. % MI1%/14

Question Number : 167 Question Id : 5038906809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UM M 3R TaTS 1 aTell B8 &1, 39 el & URa: Tecd 3imeuf a1 81 S 39 avaad fohdt T RR T 7ol 817

Options :

1. ¥ MI%/3

2. % M1%/4

3. % M1¢/12
4. % M1%/14

Question Number : 168 Question Id : 5038906810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The point where satellite is nearest to the earth is called—
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Options :
1% Perigee
(=]

2. % Apogee
3. # Perihelion
4. % Aphelion

Question Number : 168 Question Id : 5038906810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9% foig 516t Suure gt & wed e gidT 8, Heard &-
Options :

1. ¥ JUY (Y FHITD)

2. % 3 (URIHT)

3. % JWER

4. % JUUR

Question Number : 169 Question Id : 5038906811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the net external force acting on a system is zero, then its total momentum is zero.
1. Linear
2. Angular

Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1ignored for all candidates.
Options :

1. Only 1

2. Only 2

3.Both 1 and 2

4. Neither 1 nor 2

Question Number : 169 Question Id : 5038906811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Note: For this question, discrepancy i1s found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. had 1

2. had 2

3.1 8R 2 g1

4.7 1 RAG 2

Question Number : 170 Question Id : 5038906812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The earliest 'geocentric' model in which all celestial objects, stars, the sun and the planets all revolved around the earth, was proposed by

Options :

1. ® Galileo
2. ¥ Ptolemy
3. # Aristotle

4. ® Copernicus

Question Number : 170 Question Id : 5038906812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RS Yhiae Aled forad Tt @iy fis, IR, g4 iR 78 u+t udft & aRf iR gd €, SRT URaTfad foaram et T
Options :

1. % Teiiferal
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2.« 2aH

2 eipprci
% apag

4. ® HRABY

Question Number : 171 Question Id : 5038906813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Suppose four equal masses (m) are present at the four corners of the square room of side r. If the gravity is G then find the gravitational potential
energy for the system of four masses.

Options :

Gm

. 1
1w P

Question Number : 171 Question Id : 5038906813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A WIOTE b r YOIl 9T TP R HER & IRI DIF] IR IR 3B RIDH GHM (m) NG & | Al TEATHY G 8 Al IR GO o b &
fore e fRufas Soif 3 Sifve |

Options :
54157
@ 5.41 =

1
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Question Number : 172 Question Id : 5038906814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The escape speed for the moon is times smaller than the earth.
Options :

1. % 4

2.¥5

3. % 6

4. %3

Question Number : 172 Question Id : 5038906814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IEHT P UARAA@ A T BIct gl
Options :

1. % 4

2.¥5

3. % 6

4. %3

Question Number : 173 Question Id : 5038906815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Suppose a planet has two natural satellites. The period of one natural satellite is 7 hours, 39 minutes and an orbital radius of 9.4 x 103 km. Find
the mass of the planet.

Options :
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548 x 102 kg

3
4. 648 x 103 kg

Question Number : 173 Question Id : 5038906815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 5.48 x 1023 U1

2. % 579 x 1022 U1

3. % 6.79 x 1022 f3n

4. v 6.48 x 1023 fU1

Question Number : 174 Question Id : 5038906816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The mass of a satellite is 400 kg. The satellite is circulating in a circular orbit of radius 2R. Find the energy which is needed to transfer it to
another circular orbit of radius 4R. (Given R = 6370 km)

Options :

1. % 351 x10%)
2.¥3.13x107]
3.% 423%x10°]
4. % 351 x10%)

Question Number : 174 Question Id : 5038906816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TP IUUE BT ST 400 fHUT 81 STIE 2R 01 B TAHR e H IRTEAR! 81 3 4R BT &1 U 31 gri1g Heafl & RIFARd & &
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fore anazae Fuif Jra eI (Far ) R = 6370 fh)

Options :

1. % 351 x10%)
2.¥3.13x107]
3.% 423%x10°]
4. % 351 x108)

Question Number : 175 Question Id : 5038906817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The duration of a planet year is 29.5 times the earth year. Find the distance between the planet and the sun if the distance between the sun and the
earth is 1.50 x 108 km.

Options :

1. % 1.43 x 10'1Km

2. % 1.43 x10%km

3. 1.43x 1012 km

4. % 1.43 x 10% km

Question Number : 175 Question Id : 5038906817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T U8 99 @ 3rafy geat ay o1 29.5 AT € | afe T 3R gt & o Bt gt 1.50 x 108 feit &, 1 78 3R T & & &1 gt 1 B
Options :

1. % 143 x 100 foet

2. % 1.43 x 108 fdt

3. ¢ 1.43 x 10!2 fort

4. % 143 % 104 foet

Question Number : 176 Question Id : 5038906818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Which is true for a simple harmonic moti

bn?

Noter For this questt

n, discrepancy 1s found in qu

question 1s 1gnored for all candidates.

Options :

1. It is an oscillatory motion in which the displacement of the particle from the origin varies with time.

2. It is also a periodic motion.
3. It is a motion in which displacement is
4. It is a circulatory motion.

a sinusoidal function with time.

GET IT ON
Google Play

Stion/answer. So,this

Question Number : 176 Question Id : 5038906818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TR gHMT 7T & fo p-ar I 82

Note: For this question, discrepancy is found in question/answer. So,this
question is 1gnored for all candidates.

Options :

1. 9% U SIAHH 7T § Ford ot ¥ 01 o1 fawITo= 950 & 1Y deadT 6l 6|

2. U8 T 3M1ad T 47 2

3. g U U1 T1fd @ T AU 9wy & I1Y U Srash iy 3ifHelefed g |

4. T8 U URI=RUT (4 B

Question Number : 177 Question Id : 5038906819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Example of a function of time which represents simple harmonic motion is

Options :
1 % log |wt

) % Cos 2wt + sin 3wt + sin 4wt
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4. ® a sin® (wt + @)

Question Number : 177 Question Id : 5038906819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IJHY & T el hT IS0 ol TR HTad Tfd &1 =g #=ar g
Options :

| % log|wt
) % Cos 2wt + sin 3wt + sin 4wt

3 w asin(wt+¢)

4 % a sin? (wt + ¢)

Question Number : 178 Question Id : 5038906820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A wooden block of mass 5 kg is attached to a spring. It slides without friction over a horizontal rod. The block is displaced from its equilibrium
position by 0.1 m and released. Find the maximum speed of the block. (Given spring constant is 500 N/M)

Options :

1.¥ 1m/s
2. % 2m/s
3. % 3m/s
4. % ,m/s
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Question Number : 178 Question Id : 5038906820 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥ 1 m/s

2. % 2m/s

3. % 3m/s

4. % 5 m/s

Question Number : 179 Question Id : 5038906821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Suppose the length of the string of a pendulum is L and the mass of the bob attached is m. Taking moment of inertia as I, find the angular
acceleration for small displacement.

Options :

2. % _m?mﬂ
3.$3a__mfrﬂ
4.\?,:1——1“%”3‘&

Question Number : 179 Question Id : 5038906821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 180 Question Id : 5038906822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The mass of the block attached to the spring is 200g. Its damping constant is 40g/s. If the value of the spring constant is 90 N/m, then find the

period of oscillation.
Options :
1. %058
2. %048
3.9038S
4. %028

Question Number : 180 Question Id : 5038906822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. %058
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2. %048
39038
4. %028
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Question Number : 181 Question Id : 5038906823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
Suppose the length of a pendulum is L and the mass of the bob is M. It is suspended in a toy train. Th¢ toy train is moving in a circular track of

radius R with speed V. The pendulum makes small oscillations in a radial direction about its equilibrium position. Find the time period of
oscillation.

Options :

EH |—4‘
1)

Question Number : 181 Question Id : 5038906823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

EH |—4‘
1)

1.¢
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Question Number : 182 Question Id : 5038906824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Electron Microscope is related to which types of wave?
Options :

1. # Electromagnetic wave

2. % Mechanical wave

3. ¥ Matter wave

4. ® Radio wave

Question Number : 182 Question Id : 5038906824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3Ade YR [ TR 31 a7 J e 82
Options :

1. % faggd T a

2. % gifed I

3. ¢ Uei Al
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4. % IS R’

Question Number : 183 Question Id : 5038906825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who out of the following is not a famous scientist associated with the physics of wave motion?
Options :

1. #® Christian Huygens

2. % Robert Hooke

3. # Isaac Newton

4. ¥ Simeon Poisson

Question Number : 183 Question Id : 5038906825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol § 3 oF a1 71 & Wide! 9 Gt uRig ax1He Tl 62
Options :

1. % fpf3ee gy

Question Number : 184 Question Id : 5038906826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A string of mass 5g is 0.72m long. The string is under a tension of 60N. Find the speed of transverse waves on the string.
Options :

1. % 85m/s

2. ¥ 93m/s

3. % 97m/s

4. % 83m/s
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Question Number : 184 Question Id : SD38906826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5¢ SOTHM ®1 Th ST 0.72 Hiex Al 81 SR 60N & I1d 7 81 SR WR U A1 &1 A1t J1d Biford |
Options :

1. % 85m/s

2. ¥ 93m/s

3. % 97m/s

4. ® 83m/s

Question Number : 185 Question Id : 5038906827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In case of a wave, the points at which the amplitude is the largest are called
Options :

1. # Nodes

2. ¥ Antinodes

3. # Fundamentals

4. % Odd harmonics

Question Number : 185 Question Id : 5038906827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % QURIRY

2. ¥ U0

3. ®¥ Hddd

4. % GRS gHIHF
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Question Number : 186 Question Id : 5038906828 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Suppose two strings of musical instruments produce beats of frequency SHz when playing the same note. If the tension of the second string is
slightly increased, then the beat frequency is found to decrease to 3Hz .What is the original frequency of the second string if the frequency of the
first string is 427Hz?

Options :

1. ¥ 422Hz
2. % 430Hz
3. ® 432Hz
4. ® 424Hz

Question Number : 186 Question Id : 5038906828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A Tifo i Iifta arerd=l & &l IR (SR) 51 T &1 Aic UR 5Hz &1 3T Safy S a3d § | afe SR &1 a-1d UTeT gl fear Sy
 firersT 3Ry Bedr 3HZ 81 ST 81 gUS) ST 1 Jd 3MTgft o1 81 fe Ugell dR @ 3MgfRy 427Hz

Options :

1. ¥ 422Hz

2. % 430Hz

3. % 432Hz

4. % 424H7

Question Number : 187 Question Id : 5038906829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which harmonic-mode of one end closed pipe of length 20cm is resonantly excited by a 430Hz source when the speed of sound in air is 340m/s?
Options :

1. ¥ First Harmonic

2. # Third Harmonic

3. # Fifth Harmonic

4. % Second Harmonic
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Question Number : 187 Question Id : SD38906829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

U R A g fdl urgy ot dars 20 T B 1 430Hz 39T & T GRT 3 UIRY H1 HIH-T UGy faen & r1e gRT Iaford fean S
22 a1g ¥ 91 &1 A1d 340my/s B

Options :

1. ¢ JYH ug
2. % i omgf
3. % Uigdl g
4. % fgdig umghy

Question Number : 188 Question Id : 5038906830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A torsion balance is an instrument used to

Options :

1. ¥ Measure force between two charged metallic spheres
2. ® Measure electrostatic charge present in a body

3. # Measure potential between two charged body

4. ® Measure polarity of a charge present in a body

Question Number : 188 Question Id : 5038906830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

76+ Gl U SUHRU § TordhT SUART EZISIGIE
Options :

1. ¢ YTd & Gl AR Ml b o o gl Dl H1Y o forg
2. % et fie & Aivg RRAGY SM1axT &1 A9 & g
3. % I 3Taflrq fUst & o faud & aro= o

4. % {5 fife & IUfRq sma=r & aar A= o
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Question Number : 189 Question Id : SD38906831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The electrostatic force exerted by a proton on an electron when they are 1A apart is
Options :

1. % 13x 108N

2.¥23x108N

3.%23x10° 10N

4. % 13x1010N

Question Number : 189 Question Id : 5038906831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS galde UR UTeiH gRT ST 71T FRUG d5gd S 9T BT ofd 310 o1 g bl gal 1A BIdil &2
Options :

1. % 13x108N

2.¥23x108N

3.%23x10°1ON

4. % 13x101ON

Question Number : 190 Question Id : 5038906832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the electric field at a distance r from an infinitely long straight uniformly charged wire of linear charge density A.

Options :
— A
E— fl
1 % TEGY
= 21 ..
E= i

7 ® TeEg T
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Question Number : 190 Question Id : 5038906832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IGH SATAY T ). b 3T AdTs o THIHM AR Y IR W &3 r R fagygd & J1d Piforg?

Options :
== :
E= !

1 % TEgT
=5 24 ..
E= 1

B TEQT
= A
E= i

3 @ 2megr
— A =
E =

4 ® dmEy T

Question Number : 191 Question Id : 5038906833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the potential at a point A due to a charge of 5 X 1078 C located 90 cm away.

Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.
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Options :
14X 104V

2.2X 104V
3.3X 102V
4.4X 102V

Question Number : 191 Question Id : 5038906833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
90 IH! g} R 5 X 108 ¢ & 3HTAR &b HRUT T foig A W fava F1d SifSw|

Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1.4X 10%V

2.2X10*V

3.3X 102V

4.4X 102V

Question Number : 192 Question Id : 5038906834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two charges are located at A and B. The distance between A and B is 14cm. The quantity of charge at A is 4 X 108C and B is -3 X 108 C. At
what point between A and B the electric potential is zero?

Options :

1. ¥ 8 cm away from the positive charge on the side of the negative charge.
2. % 8 cm away from the negative charge on the side of the positive charge.
3. # 10 cm away from the positive charge on the side of the negative charge.
4. ® In the middle of the two charges.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

GET IT ON

Google Play

Addai247

Question Number : 192 Question Id : 5038906834 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A IMAY A MRBRIRATEI A SRBF T B A 14 MBI A R AAV B A4 X 108C AR B -3 X 108 C 81 A R B F o7 fbg
fiig W faggd v g &2

Options :

1. ¢ BUMHD AR DI IR, YD A Y 8 I X |
2. % YD A P 3R, BUTHD A F 8 I G|
3. % BUTHD A B 3R, YHD A 10 YT G|
4. % G 3{1a=N & A& |

Question Number : 193 Question Id : 5038906835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
An ionic polar molecule is-

Options :

1. % H,

2. ¥ HCI

3. % 0,

4. % CO,

Question Number : 193 Question Id : 5038906835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T SMTAfI Ydia 317 3-

Options :
1. % H,
2. ¥ HCI
3. % 0,
4. % CO,
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Question Number : 194 Question Id : 538906836 Question Type : MCQ Option Shuffling : Yes
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the dimensional formula for impulse?
Options :

1.%¥ MLT

2. % Ml

3. % ML T

4. ¢ MLT!

GET IT ON

Google Play

[s Question Mandatory : No Option

Question Number : 194 Question Id : 5038906836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

31T 1 faria g F1 82
Options :

1.% MLT

2. % mlptrd

3. % MLl T

4. ¢ MLT"!

Question Number : 195 Question Id : 5038906837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The relation between current density and drift velocity is-
Options :

. T
| % Joc vy

2. " _j s 1!l|lﬁ~."|'v_d

3'\?,?}'&1:1&
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Question Number : 195 Question Id : 5038906837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YRT 9@ 3IR 3UdTE I & o1 HaY &-
Options :

1% J%yva
2' i’ .-i o 1.';1.."{1'_&

3 o Jxvy,

Question Number : 196 Question Id : 5038906838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Suppose the resistance of a nichrome wire is 100 ochm at 29° C then
what is the temperature of the nichrome wire whose resistance is 117 ohm.
(temperature coefficient is 1.70 x 10-*/°C)

Options :

1. % 1021°C
2. % 921°C
3. % 987°C
4. ¥ 1027°C

Question Number : 196 Question Id : 5038906838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25

29° C 9 100 3NH &1

a1 e TH OR &7 aTaHT 341 19 TSaST ufaer 117 a3 g7

(ATIHAT 0T 1.70 x 104/C )

Options :

1. % 1021°C
2. % 921°C
3. % 987°C
4. ¥ 1027°C
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Question Number : 197 Question Id : 5038906839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the order of magnitude of magnetic field of human nerve fibre in Tesla?

Options :
1. % 102
2. % 1072
3. % 1073
4.+ 10710

Question Number : 197 Question Id : 5038906839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%l H Ag dfeeT dq & da i & & UNRHT0 &1 HH 1 82

Options :
1. % 102

2. % 1072
3. % 1073
4. 10710
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Question Number : 198 Question Id : SD38906840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Suppose an electron is moving in a magnetic field at speed of 3 X 107 m/s, perpendicular to the field. The strength of the magnetic field is 6 < 10°
4 T. Find the radius of the path (taking mass of electron 9 x 10731 kg)

Options :

1. % 22 cm.

2. ¥ 26 cm.

3. % 29 cm.

4. % 32 cm.

Question Number : 198 Question Id : 5038906840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A WIS foh U Saiaei- gad i 8 | 3 x 107 m/s 1 71 ¥ &3 & daad Tid o g1 6T 8, GaP 1T &5 B aidhd 6 x 1074 T 81 T4 B A4
I DX (SAFE DT GodHqM 9 x 103! {31 dd gO)
Options :

1. % 20 g
2. 26 94!
3. % 20 9w
4. % 32 9!

Question Number : 199 Question Id : 5038906841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A coil is wounded tightly. The coil has 100 turns and its radius is 10 cm. It carries a current of 1A. Find the magnitude of the magnetic field at the
centre of the coil.

Options :

1.¥628x104T
2. % 628x10°T
3.% 624 x102T


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

GET IT ON

Google Play

Addai247

4. % 611x103T

Question Number : 199 Question Id : 5038906841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PUST €¢ 9g AT H 1 USA H 100 HIS € 3R 39! 1 10 31 30 1A FI fAggd URT 8| HUSTH & brs W B &F &1
G0 JTd BT

Options :

1.¥628x104T
2. % 628x10°T
3. % 624x102T
4. % 611x10°3T

Question Number : 200 Question Id : 5038906842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Nano physics is study of particle with at least one dimension between 1 and nanometres.
Options :

1. ¥ 100

2. %10

3. % 1000

4. % 10000

Question Number : 200 Question Id : 5038906842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

N difdet 19 X & &g HH Y HH TS AW aTd ST BT 3T ¢ |
Options :

1.¥ 100

2. % 10

3. % 1000
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Question Number : 201 Question Id : 5038906843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not an approach to make nano materials-
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Options :

L * top-down

2. % bottom up
3. ¥ middle up down
4. ® top down and bottom up

Question Number : 201 Question Id : 5038906843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefed & @ o & ugha sifd gea gl s & & 8T Sirdt?
Options :

1. #® 2O 8134

2. % 9[cH 37U

3. ¢ TifSa siu Sra

4. % T 13 3R §1eH 310

Question Number : 202 Question Id : 5038906844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fe, Co, Ni are ferromagnetic in bulk state but in nano phase they change to-
Options :

1. #® paramagnetic

2. ¥ superparamagnetic

3. # non magnetic

4. ® diamagnetic

Question Number : 202 Question Id : 5038906844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fe, Co, Ni URHIU A Aig 1T BId & URg Ta! Afd e Rufa & ford TR g1

Options :
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Question Number : 203 Question Id : 5038906845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Moore’s law states that amount of space required to install a transistor on a chip shrinks by roughly every months.
Options :

1. % 12

2. %18

3.9 24

4. % 30

Question Number : 203 Question Id : 5038906845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R & o0 & Fe1 T § o o IR ciforer Rifid #3A & AT STaxaes I &1 A1 T 8R e o °e o g
Options :

1. % 12

2. % 18

3.¥ 24

4. % 30

Question Number : 204 Question Id : 5038906846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Metals in nanophase absorbs:

Options :

1. # helium
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2. ¥ hydrogen
3_ % carbon

4. ® lithium

Question Number : 204 Question Id : 5038906846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 & SIaRAT H 4T o1 TGUI Rl 82
Options :

1. ® giferaH

2. ¥ B3I

3. % Bla

4. % forfagm

Question Number : 205 Question Id : 5038906847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As the size of nanoparticle decreases electrical conductivity
Options :

1. #® increases

2. ¥ decreases

3. # Stays the same

4. # can’t predict

Question Number : 205 Question Id : 5038906847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T G&H BN & MTHR " & 1Y g faggd aradhdr:
Options :

1% Fedle

2./ gl g
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3. % A Edl o

Question Number : 206 Question Id : 5038906848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Nanomaterials may have  melting point or phase transition temperature as compared to bulk material.
Options :

1. # higher

2. ¥ lower

3. % same

4. ® infinite

Question Number : 206 Question Id : 5038906848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faged IRl B gaT H AHeRa@ ®  TTaHIe a1 TRUT HehHUT ITYHH & 9ehdl g |
Options :

1. ¥ 3d

2. ¢ fAar

3. ¥ gHH

4. % 3Hd

Question Number : 207 Question Id : 5038906849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is not correct about Coulomb's Law?
Options :

1. ¥ Coulomb's Law states that the force between two-point charges Qland Q2 is inversely proportional to the product of the charges and
directly proportional to the square of the distance between them.

2. # Point charge is a hypothetical charge located at a single point in space. It is an idealized model of a particle having an electric charge.
3. # The electric field intensity or the electric field strength at a point is defined as the force per unit charge.
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4. ® When we have a number of point cHarges, to determine the force on a particular charge due to al| other charges, we apply principle of
superposition.

Question Number : 207 Question Id : 5038906849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S P FgH & TR § Fafiad o § o a1 oue I8 T8 82

Options :

1. ¥ SR & 8 Hgdl § fob gI-fdg ma=ii Q1 3R Q2 & oid HI 9 HTARI & [UHhd & HehHTIUT aIdl § 3R 3% aid 1 g3l &
ol o T SHrgaricieh BIefl 81

2. % g 3w siaRel § ueb foig W R U STeuMer 31 21 U8 Ueb g SH1I arel U1 &1 Ueb 3H1eR Aisd B |

3. % o foig W fagga &7 & digdr a1 faggd &= & ared o) aRyIfd ferar Srar g1

4. % SIq GHAR U &8 fog SMAN B &, I 37 Tt STa=T &b HRUT {hell fa=iy M1a=T R 9 &1 FeR0 $H5A & foIe, g9 SR &I

RFAGKINCEGE]

Question Number : 208 Question Id : 5038906850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Divergence theorem states that the volume integral of the divergence of vector field is equal to the net outward flux of the vector through the
closed surface that bounds the

Options :

1. % Area

2. #® Density

3. # Inner Surface
4. ¥ Volume

Question Number : 208 Question Id : 5038906850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ﬁw?ﬁww%%%%%%wwwmma&ws & A J I & PG JdH a8 b RERg ol b
Jres Bl

Options :
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Question Number : 209 Question Id : 5038906851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which theorem states that “the surface integral of the curl of a function over a surface bounded by a closed surface is equal to the line integral of
the particular vector function around that surface”.

Options :

1. # Divergence Theorem
2. ¥ Stokes Theorem

3. % Gauss Law

4. % Electric Curl Law

Question Number : 209 Question Id : 5038906851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % faere gy

2. ¥ KR THY

3. % Ty e

4. % Zdfdcd Pl (AoH

Question Number : 210 Question Id : 5038906852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The maximum electric field that a dielectric medium can withstand without break-down (of its insulating property) is called its
Options :
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1. ¥ dielectric strength

2 # Jdielectric breakdown

3. % Uniaxial strength
4. ¥ Biaxial breakdown

Question Number : 210 Question Id : 5038906852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a8 IS faggd &= S ®is Widegd Aread fomT o (39 faggariet TureH) & T8 R Al 8, 39 ATedH &1
gl ¢ |

Options :

1. ¢ RIdggd g

2. % TRIdGgd 4o

3. % Uple I

4. % fgarelg v

Question Number : 211 Question Id : 5038906853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Nuclear masses are measured in

Options :

1. ¥ atomic mass unit

2. % grams

3. # moles

4. % clectron volt

Question Number : 211 Question Id : 5038906853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 212 Question Id : 5038906854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is incorrect?

Options :

1. #® In Gamma decay the energy (MeV) corresponds to radiation of extremely short wavelength, shorter than the hard X-ray region
2. # Typically, a gamma ray is emitted when a a or B decay results in a daughter nucleus in an excited state.

3. % In beta decay, a nucleus spontaneously emits an electron or a positron

4. ¥ While a free neutron decays to proton, the decay of proton to neutron is not possible inside the nucleus

Question Number : 212 Question Id : 5038906854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 8 A ST 3T ©

Options :

1. % T & § FHolf (MeV) PSR X-fpun & uRER  $7 e ara fafeon @ d6fid gt &

2. % JrTgd: foft T fohRuT &1 ISi, Sfethl 3UdT del-ery § fagest A1fies ol Saford Siai1 & 761 &I a1 H gidT 8
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Question Number : 213 Question Id : 5038906855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Energy is released by of nuclei.
Options :

1. # fusion only
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2. % fission only
3% hoth fission and fusion

4. % Can’t be determined

Question Number : 213 Question Id : 5038906855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S F SRI Soll IR &t et B
Options :

1. % faerg bad

2. % fq@ed dhad

3. ¢ I fae SiR fade

4. % FYiRa 2 fpan o1 9 &

Question Number : 214 Question Id : 5038906856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mediating particles that can exist only because of the uncertainty principle for energy are called
Options :

1. # permanent particle

2. ¥ virtual particle

3. % temporary particle

4. % real particle

Question Number : 214 Question Id : 5038906856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U HEHR BT Sl Hadl Soll b AR Rigid  PRUANE g qbd 8, ol ol
Options :

1. % RITAT B0l

2. ¢ SMHRA BT
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Question Number : 215 Question Id : 5038906857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
There are thoughttobe  types of quarks.
Options :

1. # five

2. ¥ six

3. % seven

4. ® eight

Question Number : 215 Question Id : 5038906857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
_ UBR S DB AN A
Options :

1. % g9

2. ¥ 3%

3. % 9Id

4, ® 315

Question Number : 216 Question Id : 5038906858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Strongly interacting particles are called
Options :

1. % hadrons

2. % fermions

3. ¥ mesons
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4. % bosons

Question Number : 216 Question Id : 5038906858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ued U ¥ IRER a1 dH3 aral H01 Bl FHEI a5
Options :

1. ¥ g8

2. % HH3H

3. % OEY

4. % SN

Question Number : 217 Question Id : 5038906859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The interaction between quarks is mediated by
Options :

1. ¥ bosons

2. % mesons

3. ¥ gluons

4. % fermions

Question Number : 217 Question Id : 5038906859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HTH] & did RER AT A H HeoRyar gRIPIS B
Options :

1. % §NEH

2. % A

3. ¢ T3

4. % i
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Question Number : 218 Question Id : SD38906860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Proton consists of number of quarks.
Options :

1. ¢ three

2. % four

3. # two

4. % five

Question Number : 218 Question Id : 5038906860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tiet & B! B ST Bl 6|
Options :

1. ¢ |

2. % IR

3. % Q)

4. % U

Question Number : 219 Question Id : 5038906861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not a lepton?
Options :

1. ® electron

2. % tau particle

3. % muon

4. ¥ proton

Question Number : 219 Question Id : 5038906861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafifad 7 & BiH-a1 T ApH TEi 82
Options :

1. % SAd

2. % TS (PN

3. % T3

4. ¢ UICH

Question Number : 220 Question Id : 5038906862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fermions have integer spin.
Options :

1. ¢ half

2. % one

3. # two third

4. ® one third

Question Number : 220 Question Id : 5038906862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B H quifep R giaT 81
Options :

1. & 31T

2. ¥ Th

3. % QI fagrs

4. % T fagTs
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Question Number : 221 Question Id : 5038906863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the rest mass of a photon in free space?
Options :

1. ¥ zero

2. ® same as mass of electron

3. % same as mass of proton

4. ® negative
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Qucaﬁuu Number—-221 Qucaﬁuu 5038906863 Question Type . MCQ OptiOIl Shllfﬂillg : Yes
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o 3BT H Bleld BT faRH god (e 114) a1 8T 82
Options :

1.V

2. % AR & UM & JHH

3. % I & SogH & FH

4. % FBUMHD

Question Number : 222 Question Id : 5038906864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is not true?

Options :

1. # If the net external force acting on a body or a system of particles is zero, the linear momentum of the system is conserved
2. % If a Force (F) acts on the system for a given time, it produces a change in the momentum of the system, equal to its impulse
3. # The relativistic total energy of a particle is the sum of its Relativistic-Kinetic-Energy and Rest-Mass energy

4. ¥ For a particle of Relativistic-mass, such as Photon, the relativistic — energy-momentum relation becomes € = pc

Question Number : 222 Question Id : 5038906864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T § @ &9 915U 3 82

Options :

1. % Tfe et fifs a1 ot & Foema R o v a1l Yk 16 9 Y ©, o T o7 XA TaT TR Ygar 8
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Question Number : 223 Question Id : 5038906865 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following scientists established the evidence of radioactivity in elements like Thorium, Polonium and Radium as well and that
radioactivity is a nuclear property of the element concerned and remains unaffected by physical or chemical changes?

Options :

1. ¥ Rutherford

2. % P Villars

3. % Becquerel

4. ¥ Madame Marie Curie

Question Number : 223 Question Id : 5038906865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % IRBIS

2. % Ot faed

3. % g

4.« TeH Y agd

Question Number : 224 Question Id : 5038906866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is not true?

Options :

1. ¥ The penetrating power of Beta rays is more than that of both Alpha rays and Gamma rays
2. # Gamma rays are electrically neutral

3. # Alpha rays are positively charged particles and Beta rays are negatively charged particles
4. % Alpha particles affect photographic films
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Question Number : 224 Question Id : 5038906866 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed HU= 8 3 S 9 751 82

Options :

1. ¢ SfieT Ul Bt Ye &l SiethT [hRull SR T fBRun Gl § e Bial 5
2. % T fhR0} faegd U A IR gt &

3. % 3(ctp] foh Ul YATAfRIG HUT & IR ditet vl BUMafRid wu g

4. % 3TPHT HU BICUTh D TUhed! bl THTd Hd &

Question Number : 225 Question Id : 5038906867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The SI unit of Radioactivity is Rutherford. It is defined as the quantity of any radioactive substance giving  disintegrations per second.
Options :

1. ¢ 10°

2. % 107

3. % 10°

4. % 108

Question Number : 225 Question Id : 5038906867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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|

Options :
1. ¥ 10°
2. % 107
3. % 10°
4. % 108



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

GET IT ON

Google Play

Addai247

Question Number : 226 Question Id : 5038906868 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A fission chain reaction is said to be self-sustained-

Options :

1. ® When the rate of production of electrons is equal to the rate of loss of electrons
2. % When the rate of production of neutrons is equal to the rate of loss of neutrons

3. ¥ When the rate of production of neutrons is more than the rate of loss of electrons

4. ® When the rate of production of neutrons is less than the rate of loss of electrons

Question Number : 226 Question Id : 5038906868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Options :

1. % Sd ZAGel & IdIG P ax ST b JH U I &R b SRR Bt &
2. ¢ Tq Y & IMGH B & G P THUM DI &3 B SRI6R gldll &

3. % Jq e & SATGH B &R S| b JHUM DI &R o HH glell o

4. % S g & IdTGH B &R SAaHI B JHUM DI & § HH Bl o

Question Number : 227 Question Id : 5038906869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In hydrogen atom the quantum number ms can’t have the value

Note: For this question, discrepancy 1s found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1.+1/2

2.-12

3.1

4.2
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Question Number: 227 Question1d—+-5038906869 Question Type : MCQ Option Shuffling : Yes
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

BISSISH RATY H HIcA A ms HTAM 161 g1 Yol
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1.+1/2

2.-12

3.1

4.2

Question Number : 228 Question Id : 5038906870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
effect is the effect of splitting of a spectral line into several components in the presence of a static magnetic field.
Options :
1. ¥ zeeman
2. # stark
3. ® roger
4. % malone

Question Number : 228 Question Id : 5038906870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ Sl

2. % Wb

3. % R
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4. % AAH

Question Number : 229 Question Id : 5038906871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a quantum number?
Options :

1. # Principal quantum number

2. % magnetic quantum number

3. % spin quantum number

4. ¥ electric quantum number

Question Number : 229 Question Id : 5038906871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fafafed § 3 $H-91 16 HicH 9871 151 82
Options :

1. % B BHIUCH JBAT

2. % Jata BHiey T

3. % YeehUl leH I8l

4. ¢ fdgygd ®icH IB

Question Number : 230 Question Id : 5038906872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the model, electrons move in circular orbits like Newtonian particles in hydrogen atom.
Options :

1. ¥ Bohr’s

2. % Zeeman’s

3. ® Einstein’s

4. ® Bose’s
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Question Number : 230 Question Id : 538906872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

. ¥ aR

2. % Sfilg=g
3. % L
4. % 99

Question Number : 231 Question Id : 5038906873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the relation between velocity (v) of the electron and the radius of the orbit (P) through which the electron is revolving?
Options :

1.8 VoP

) % Vol/P
3 % Vo P

4 & Vo< 1IAP

Question Number : 231 Question Id : 5038906873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST & AT (v) 3R 3 &l BT Brea (p) R Soiagi= aRepHUT 3 361 §, & aid 1 Hae 52

Options :
|.® VP


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

GET IT ON

Google Play

Addai247

» ® Vocl/P

3 8 VX P

4 & Vo< 1IAP

Question Number : 232 Question Id : 5038906874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the shortest wavelength in Balmer series.
Options :
1. ¥ 364.6 nm
2. % 365.6 nm
3. % 366.6 nm
4. % 367.6 nm

Question Number : 232 Question Id : 5038906874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IR Suft & e BT aTeed gl
Options :

1. ¥ 364.6 nm

2. % 365.6 nm

3. # 366.6 nm

4. ® 367.6 nm

Question Number : 233 Question Id : 5038906875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a correct value of Planck’s constant?
Options :
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1. % 62 x1033Js

T H# 5 3IXT02T5
3.9 6.6 x 1034]s
4. % 6.8 x1035]s

Question Number : 233 Question Id : 5038906875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafafad & I oH-a1 we Hadie &1 98 aH 82
Options :

1. % 6.2 x 10335

2. % 6.3 x10732Js

3.9 6.6 x 107345

4. % 6.8 x 10735

Question Number : 234 Question Id : 5038906876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct relation between Joules and Volt.
Options :

1. % 17=62.5x10'8ev

2. % 17=62.5x 10y

3. % 17=6.25x 10"y

4.9 17=6.25x 1018¢vy

Question Number : 234 Question Id : 5038906876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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2.5x 10'8ey
19

—_
—
Il
o)

11] = ()25 10 TV
3. % 17=6.25x10"%y
4. ¥ 11=6.25x 1018ey

Question Number : 235 Question Id : 5038906877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the correct value of Rydberg constant obtained from the empirical Balmer formula?
Options :

1. ¢ 1.097 x 10"/m

2. % 1.08x107/m

3. % 1,039 x 107/m

4. % 1,03 x107/m

Question Number : 235 Question Id : 5038906877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YIS IR G 9 T Reert-fFadies &1 ugt 7H fHgfafed 7 9 eoF-ar g2
Options :

1. ¥ 1.097 x 10’/m

2. % 1.08 x 10"/m

3. % 1.039x107/m

4. % 1.03x10"/m

Question Number : 236 Question Id : 5038906878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three types of radioactive decay occur in nature. Which of the following is not a type of radioactive decay?

Note: For this question, discrepancy is found in question/answer. So,this
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question 1s 1gnored for all candidates.

Options :
1. 0-decay in which a helium nucleus “He; is emitted

5 p-decay in which electrons or protons are emitted.

3 v-decay in which low energy proton is emitted

4. Y-decay in which high energy photons are emitted

Question Number : 236 Question Id : 5038906878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i B fF UpR & e e g €1 Fafiad § 3 o1-91 U UeR &1 s e et 32
Note: For this question, discrepancy 1s found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :

| o-aTa ForeEH e Giferas ifdie a8 Scafsid gidr &
, B-&T TSGR FoleFglet ATHICIe Scaieid 81l &

3 v-&7 TSIt & el arelt Wiele 3cafsid aidr &

4 y-6Ta fSEet 3T Faft arel Biela Scafad aid ¢

Question Number : 237 Question Id : 5038906879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The relation between curie and becquerel (Both the unit of radioactive decay rate) is-
Options :

1. % 1 curie=3.6 x 1010 Bq

2. ¥ 1 curie=3.7 x 10!Bq

3. % 2 curie =3.8 x 10!9Bq

4. % 1 curie=3.9 x 1019Bq

GET IT ON
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Question Number : 237 Question Id : 5038906879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T3 SR IHRA (G Sl & R P SHIS) P ald AaY g
Options :

1. ® 1 curie =3.6 x 1019 Bq

2.9 1 curie = 3.7 x 1019Bq

3. % 2 curie=3.8 x 1019Bq

4. % 1 curie =3.9 x 10!10Bq

Question Number : 238 Question Id : 5038906880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

is the energyreleased in the process of alpha decay of %5, U.
(Given Z85,UU=238.05079 U, *;He=4.00269 U
545, Pa=234 04363 U, 1, H= 1100783 U
B75,Pa=237.05121 U, C= 931.5 Mev/u)
Options :
1. % 42.5 Mev
2. ¥ 425 Mev
3. # 0.425 Mev
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4. ® 425 Mev

Question Number : 238 Question Id : 5038906880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

28,1 & 3owT &1 T Uihar A Haea ael 4T o —
(feam 14T £, 85, U=238.05079 U, *,He=4.00269 U
B45,Pa=234.04363 U, 13, H=1.100783 U
575,Pa=237.05121 U, C= 931.5 Mev/u)

Options :

1. # 42.5 Mev
2. ¥ 425 Mev
3. % (0.425 Mev
4. ® 425 Mev

Question Number : 239 Question Id : 5038906881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank:

Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

L L

2. 7 Kr
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3. T uBa

4. 4N

Question Number : 239 Question Id : 5038906881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e R &1 WA & o1 a8 Iugad fddhed ol 94 By

1Dﬂ+ 33592U s 135515]3 + + 410ﬂ

Note: For this question, discrepancy i1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

L Pk
2. gg‘l‘lKI
3. aBa

4, 74ND

Question Number : 240 Question Id : 5038906882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
LH2.H . Het+tn+t+

Options :


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

GET IT ON

Google Play

Addai247

1. % 42 Mev
2 % 327 Mev

3. ¥ 0.42 Mev
4. % 403 Mev

Question Number : 240 Question Id : 5038906882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
LHHEH > Hetnt

Options :
1. ¥ 42 Mev
2. ¥ 327 Mev
3. % 0.42 Mev
4. % 4,03 Mev
Discipline8
Group Number : 13
Group Id : 503890165
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline8

Section Id : 503890273
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Question Number : 241 Question Id : 5038906883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
is an example of organic polymer semiconductor.
Options :
1. ¢ Polythiophene
2. % Anthracene
3. # Doped phthalocyanines
4. ® Indium phosphide

Question Number : 241 Question Id : 5038906883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

PHIEP dgad AHTad BT UH S g
Options :
1. ¢ TIAam
2. % TRRIHA
3. % SUff¥d WA
4. % ST BRGISS

Question Number : 242 Question Id : 5038906884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The minimum energy required in Silicon to separate an electron at room temperature from the atom is approximately-
Options :

1. % 0.0lev

2. % 0.03ev

3. % 0.04ev

4. ¥ 0.05ev

Question Number : 242 Question Id : 5038906884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

H& qY | Th 3G 1 TRHTY] T Yol A P Forg Ryfrepi= § @y fobamt Soif anfew?
Options :

1. ¥ 0.0lev

2. % 0.03ev

3. % 0.04ev

4. ¥ 0.05ev

Question Number : 243 Question Id : 5038906885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The threshold voltage for germanium diode is approximately
Options :

1.% 01V

2.¥ 02V

3.% 03V

4. % 0.4V

Question Number : 243 Question Id : 5038906885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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SHATH SIS &1 dga dieedl (JRNTS) dleesl) TRTHAT gl

Options :

1.% 0.1V
2.¥02V
3.8 03V
4, % 0.4V

Question Number : 244 Question Id : 5038906886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The semiconductor used for fabrication of visible LEDs must at least have a band gap of
Options :

1. # 1.5ev

2. % 1.6ev

3. % 1.7ev

4. ¥ 18ev

Question Number : 244 Question Id : 5038906886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o1 SrefaTeer! 1 IUDIT TR Uais st (LED) & (AT § gl § 396! 88 SR HH-9-3H ARy
Options :

1. ® 1.5ev

2. % 16ev

3. % 1.7ev

4.¢ 18ev

Question Number : 245 Question Id : 5038906887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The actual relation between atomic mass unit (u) and kilogram is:
Options :
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lu=1.600512 x 1027kg
lu=1.530512 x 1027kg

Question Number : 245 Question Id : 5038906887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRHATY] ST SHTS (u) 3R [FARTH & &g IRdfdd o -
Options :

1. % 1u=1.630512 x 1027kg

2. ¥ 1lu=1.660539 x 1027kg

3. % lu=1.600512 x 1027kg

4. % 1u=1530512 x 1027kg

Question Number : 246 Question Id : 5038906888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The correct value of mass of proton in kilogram is
Options :

1. % 1.60262 x 10%7kg

2. % 1.60262 x 1028kg

3.9 1.67262 x 10%7kg

4. % 167262 x 10>kg

Question Number : 246 Question Id : 5038906888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
QICT & GouHT Pl fbaad # g8l 7 &l

Options :
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-

¥ 1.67262 x 1027kg
. % 1.67262 x 102°kg

5w

Question Number : 247 Question Id : 5038906889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let there be a physical quantity X = abc. If percent error in a, b and ¢ are 1 percent, 2 percent and 4 percent respectively, then the percent of error
in X is:

Options :

1. ¥ 7 percent

2. % 8 percent

3. # 3 percent

4. % 10 percent

Question Number : 247 Question Id : 5038906889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TP Ui AR X = abe §1 TS a, b TUT ¢ f Ufd=ra Ife wH=r: 1 ufawra, 2 wfawrd qur 4 ufawa 8, 99 X i ufard Ffe §:-
Options :

1. ¢ 7 gfaerd

Question Number : 248 Question Id : 5038906890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which is not a scalar quantity?
Options :
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1. # Time
2 % Momentum

3. ® Volume
4. ® Density

Question Number : 248 Question Id : 5038906890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
®I-4 T ifey AR T 22

Options :

1. ® gAY

2. ¢ HaTl

3. % 3Igdd

4. % Y9d

Question Number : 249 Question Id : 5038906891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following pairs of physical quantities don't have the same dimensional formulas?
Options :

1. ¥ Work and torque

2. # Angular momentum and Planck’s constant

3. ¥ Tension and surface tension

4. % Impulse and linear momentum

Question Number : 249 Question Id : 5038906891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafefed d @ Wide wikmal & i gm & e o gam 78 @
Options :

1. % B 3R aa el
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2. % HIfig G 3R Wi RRI®

3« g3 ﬁvnwn:n?r

4, %W@?Wﬂéﬂ

Question Number : 250 Question Id : 5038906892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the SI Unit of angular frequency of a wave?
Options :

1. ® rad s

2. % rads?

3.¢ rad s

4. % rads

Question Number : 250 Question Id : 5038906892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fopll T B HIUNY TG BT U 318, AED o1 &Il 82
Options :

1. % rad s

2. % rad s?

3.9 rad s

4. ® rads

Question Number : 251 Question Id : 5038906893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is obtained if we calculate the area under the force-displacement graph?
Options :

1. % Impulse

2. ¥ Momentum
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3. ¥ Work done
4_® Torque

Question Number : 251 Question Id : 5038906893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe g1 IA-[ARITYT TP & 3fdifd &b B TTUHT Hd 8, d FafaRad & 3 o1 U gidi 82
Options :

1. % 3T

2. % HaTl

3. ¢ foa1 T B

4. % §q Tl

Question Number : 252 Question Id : 5038906894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A steel wire 0.361 m long has a mass of 9.0 x 1073 kg. If the wire is under a tension of 25 N, what is the speed of transverse waves on the wire?
Options :

1. ¥ 31.67 ms™!
2. % 4254 ms™!
3. % 16.63 ms™!
4. % 2787 ms!

Question Number : 252 Question Id : 5038906894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
0.361 T e forelt Wha & IR &1 GHM 9.0 x 1073 {1 81 afd IR W TG 25 N 8, @ dR WR S0 a1 &1 a1 o1 82

Options :

1. ¥ 31.67 ms™!
2. % 4254 ms™!
3. % 16.63 ms™!


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaRi7

4. % 2787 ms’!

Question Number : 253 Question Id : 5038906895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is not true if a disc rotates with uniform angular velocity?

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. The orientation of the axis of rotation remains the same.

2. The speed of rotation is non-zero and remains same.

3. The angular acceleration is non-zero and remains same.

4. The speed of rotation is zero and remains same.

Question Number : 253 Question Id : 5038906895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

O B (S Th UM HIUN o7 I gl 8, df F8 T F SH-91 9 S 9 7ol 87
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. gofF 31gf Y fam agt X@h B

2. guiF &1 i I el 8l | 3R I &t 2

3. PO @R LA & 3R I T 2l

4. YU 1 7T [ B 3R T @l B

Question Number : 254 Question Id : 5038906896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Two wires of copper having the length in [the ratio 9:1 and their radius in the ratio 1:7, are stretched by the same force. The ratio of longitudinal
strain in the two will be -

Options :
1. % 1:16
2. % 81:1
3.9 49:1
4. % 1:63

Question Number : 254 Question Id : 5038906896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
aﬁ%%sﬂwﬁﬂﬁmm & U B g 3R I ST 6T 3UId 1:7 8, B! U 8t a9 gRT Wil oral g | a1 & srgded fagfa &
SIguTd g1

Options :
1. % 1:16
2. % 81:1
3. ¥ 49:1
4. % 1:63

Question Number : 255 Question Id : 5038906897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two parallel rail tracks run in the north- south direction. On one track train A moves north with a speed of 84 km/hr and on the other track train B
moves south with a speed of 130 km/hr. The velocity of train A with respect to train B is:

Note: For this question, discrepancy 1s found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :
1.56 m/s
2.214 m/s
3.65m/s
4.60.1 m/s
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Question Number : 255 Question Id : SD38906897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& TR Y& et FaR-femr fa=m & gt § | Ueh ¢ WR S A, 84 fartfi/der 1 1fd § SR &1 SR Iad] € iR g ¢ W S B, 130
fopet/eieT ot T1f J Sferur &t SR I g1 ST B & Y H S A HI AT 6:

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1ignored for all candidates.
Options :

1. 56 HleXAH S

2. 214 HIRAHS

3. 65 Ui/ AH S

4. 60.1 HleXA&H s

Question Number : 256 Question Id : 5038906898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Light of wavelength 4000 A is incident at small angle on a prism of apex angle 8°. The prism has n,, = 4.6 and n, = 3.4. The angle of dispersion
produced by the prism in this light is-

Options :

1. ¥ 9.6°

2. % 0.08°

3. % 0.192°

4, % (0.172°

Question Number : 256 Question Id : 5038906898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
4000A TR &1 BT, T XY BIUT (apex angle) 8° P fISH TR BIC BV WR 3Mufdd giar g | IS Hn, = 4.6 3R n, = 3.4 B ST USHIT H
fOrsH gRT e UR&TU S0 2-



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda 2 l'l 7 GGETJL%'\ie Play
Options :
1 & Q@0

2. % 0.08°
3. % 0.192°
4, % (.172°

Question Number : 257 Question Id : 5038906899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be the reaction when two soap bubbles of different radii are in communication with each other?

Options :

1. # Air flows from larger bubble into the smaller one

2. # The size of the bubbles remains the same

3. ¥ Air flows from the smaller bubble into the large one and the large bubble grows at the expense of the smaller one
4. % The air flows from the larger bubble

Question Number : 257 Question Id : 5038906899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oiq fafret Fearsil & 9igH & & goiqa 3q T SR 9 gf df &1 ufafear gl

Options :

1. % g9 98 goga I ©le gogd § ggdl &

2. % AW BT TR FHM Bl

3. ¢ BAI BIC g U §8 gagal H g5 & 3R 731 gagal Bic gaga & Hed W fasRid giar 8
4. % A1 9IS g9 4 g8l &

Question Number : 258 Question Id : 5038906900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which is the example of centrifugal force?
Options :
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1. # A body tied to one end of a string is|being rotated in a circle; the force is supplied by the tension|of the string.

2% The moon revolving around the earth, the force is the gravitational pull of the earth on the moon
3. # A person riding a cycle along a circular path, the necessary force is supplied by a sidewise pressure exerted by the road on the tyres.

4. ¥ A stone tied to one end of a string is being rotated in a circle, the stone itself exerts an equal and opposite force on the hand holding the
string.

Question Number : 258 Question Id : 5038906900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UG LT T BT ISTERYT I AT 82

Options :

1. % U SR & Uep RR T o1 §an Uep fUi's U g o gHIAT oI R8T §; 9 o1 3TYfel SR & o1 A gl 8|

2. % TG oAl & IRI 3R IahR Il §, 9 I&HT IR G} & o yvl Rdard g |

3. % Udh JOIHR UY IR IS & YaR! B aTal Sfad, SRRI IR TS gRT TITT 7T U1 SaTd gRT 31a=dd o Bt 3MTYfd Bl ¢ |

4.« T SR & T RN 4T g3 TR T g7 | GHTIT Ol TeT ¢, WY TR SR Bl Udhs 3§ dTal 814 TR sRIeR 3R Iuid 5 e |

Question Number : 259 Question Id : 5038906901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the maximum time period of simple pendulum on earth ?

Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. 180.5 second

2. 100 second

3.90.5 second

4. 84.6 second

Question Number : 259 Question Id : 5038906901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.

Options :

1.180.5 9h 3
2. 100 &S
3.90.5 h s
4.84.6 Hg

Question Number : 260 Question Id : 5038906902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the most elastic material-

Options :

1. ¢ Iron

2. % Copper
3. # Glass
4. % Wooden

Question Number : 260 Question Id : 5038906902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
oY 3D TR BT I Dr-

Options :
1. ¢ gl
2. % dlaT
3. % P
4. % FhHol
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Question Number : 261 Question Id : 5038906903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Electric capacity of a semiconductor  with increase in temperature.
Options :

1. ¥ Increases

2. % Decreases
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3. ¥ Remains same

4_#% Firstincreases and then decreases
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Question Number : 261 Question Id : 5038906903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I9HH o gfg & 91 T Sidaras &1 faggd aradhd gl
Options :

1. ¢ dgdl

2. % gadt

3. % ggadl ol

4. % UgA ggdt g b ged

Question Number : 262 Question Id : 5038906904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be the change in momentum if a 10 Newton force applied on a 20 kg mass object for a 10 second?
Options :

1. # 5 kg m/sec

2. % 100 kg m/sec

3. % 200 kg m/sec

4. % 1000 kg m/sec

Question Number : 262 Question Id : 5038906904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a1 # ufkad a1 8T afe 10 < &1 U §d 20 f5a1 oo arelt a¥g WR 10 s & e wrelkd g2
Options :

1. % 5o

2.+ 100 fear A,

3. % 200 fopuT 1 /4.
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Question Number : 263 Question Id : 5038906905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Waves that are useful for communication purpose are

Options :

1. # Ultraviolet
2. ® Infrared

3. % Micro waves
4. ® Visible light

Question Number : 263 Question Id : 5038906905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR & forg Sy o '

Options :

1. % TR

2. % 3dad

3. ¢ geH o
4. % TR YDIRI

Question Number : 264 Question Id : 5038906906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the unit of Self Induction?

Options :

1. ¥ Henry
2. % Farad
3. ¥ Weber
4. ® Tesla
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38906906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

URBd BT HHD 1 82
Options :
1. R
2. % TS
3. % dWR
4. ® THI

Question Number : 265 Question Id : 5038906907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be the force experienced by an a particle moving parallel to magnetic field?
Options :

1. ¥ 12 Newton

2. % 0.2 Newton

3. ¥ Zero Newton

4. % (.8 newton

Question Number : 265 Question Id : 5038906907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ADIY & B JHHIR T o PO GRT M b1 ST aTaT et T 812
Options :

1. # 12gcq

2. % 0.2°gcH

3. ¢ R Y

4. % 0.8 Ycd
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Question Number : 266 Question Id : 5038906908 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If we need to find out 3puF capacity, the arrangement of three 2puF capacitor will:

Options :

1. # All three in series

2. % All three in parallel

3. % Two capacitors in series and third in parallel with the combination of first two capacitors

4. ® Two capacitor is in parallel and third is in series of first two combination

Question Number : 266 Question Id : 5038906908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe §H 3F &A1 T IdT T P ATaLIHT &, Al 2uF P i TR BT FoTd B
Options :

1. % o<l oY 9ot |

2. % Tl & JHIR A |

3. ¢ 1 HYIRG Auitehd H TUT AR U G & TATold o FHieR v |

4. % 1 YR FHIR 58 H TUT FIERT, UUH &1 &b T & JuiichH H

Question Number : 267 Question Id : 5038906909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two spherical shells of iron material of radius r and 4r carry charges -q and 5q respectively. What is the quantity of charge that will flow into the
Earth if the inner shell is grounded?

Options :
1. ® g2
2.¥ q/4
3. % g/3
4. % g/5

Question Number : 267 Question Id : 5038906909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % g2

2.¥ q/4

3. % g3

4. % g/5

Question Number : 268 Question Id : 5038906910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Suppose the force is f which is acted in a charge situated on the axis of a dipole. Now the charge is shifted to double the distance . So the force
will be:

Options :
1. ¥ /8
2. % f/5
3. % /3
4. % /9

Question Number : 268 Question Id : 5038906910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A o o 9 £8 O fgtd & 3181 TR fRUG 3M1a= & @1 38T 5 | 316 SATA 1 I g3l R ST il ¢ | af 9 8T
Options :

1. ¥ {/8

2. % /5

3. % 13

4. % /9

Question Number : 269 Question Id : 5038906911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the force on the charge present on point P in the downwards direction perpendicular to P:
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Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.

Options :
| V3 kqP
, V2 kg
3. V2 k@R

4 K g2

Question Number : 269 Question Id : 5038906911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fig P IR TIN[G IR R P & TG99 <l I =0 § T a1l §e J1d Hifore-

Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.

Options :
L V3 kg
, V2 k /P

5 V2 kP
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-K g2/2]2
7 :

Question Number : 270 Question Id : 5038906912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The radius of hollow metal sphere is 5 cm and the potential on its surface is 10 volts when charged. What is the value of the electric field at the
center of the metal sphere?

Options :

1. ¥ 3 Volt/meter
2. % 7 Volt/meter
3. # 15 Volt/meter
4. ¥ 0 Volt/meter

Question Number : 270 Question Id : 5038906912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

G 4T & MBI B35 5 T g 3R Il G IR 39! I8 WR f[aHd 10 e g1 4T & Tal & g | [9ggd &7 BT HH o1 gidl 87
Options :

1. % 3 dlee/HIY

2. % 7 dce/HIcR

3. % 15 dlee/HIcY

4. 0 dlce/HIY

Question Number : 271 Question Id : 5038906913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The diameters of molecules of Hydrogen, chlorine and nitrogen are respectively 2.5 A, 4.2A and 3.4A. Compare their thermal conductivities at
any temperature and pressure.

Options :
1. % 1:223:191
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2. % 2:2.13:3.12

3 % 002260477 - 04577

4. % 1:321:2.19

Question Number : 271 Question Id : 5038906913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gISSIoM, AR 31 AZero o SMU[3{l o T SHHRT: 2.54, 4.2A 3R 3.4A § | foalt oft AUAM 3R Sa1d W 3! ST ATetawdl & gl
Gy

Options :

1. % 1:223:191

2.%2:2.13:3.12

3. 0.226: 0.477 : 0.4577

4.% 1:321:2.19

Question Number : 272 Question Id : 5038906914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An X-ray machine produces X-rays of wave length 0.1A. Its accelerating voltage is:
Options :

1. % 120.5 KV

2. % 230.4KV

3. % 2123 KV

4. ¥ 123.75KV

Question Number : 272 Question Id : 5038906914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP T M 0.1 A T TaTS D1 TR0l ST Bl & | BT @i dleed 6:
Options :

1. ¥ 120.5KV

2. % 230.4KV
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3. ¥ 2123KV
4 o 123 7S KV

Question Number : 273 Question Id : 5038906915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Q - value of the following reaction is:

14Nj+ 4HE‘] —_— ”Dg : 1H1
Options :

1. % 2,97 Mev

2. % 495 Mev

3. % 1.192 Mev

4. % 1.1935 Mev

Question Number : 273 Question Id : 5038906915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferfaa sififear &1 Q - A 8-

14Nj+ 4HE‘] e ”Dg + 1H1
Options :

1. % 2,97 Mev

2. % 495 Mev

3. % 1.192 Mev

4. % 1.1935 Mev

Question Number : 274 Question Id : 5038906916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a coil of self inductance SmH the current rises from 0 to 1A in 0.1s at a uniform rate. The magnitude of emf. Induced is:
Options :
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1. % 0.5V
2 % 005V

3. % 0.07V
4. % 0.4V

Question Number : 274 Question Id : 5038906916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WIRGT SmH $I TH HUSA H YRT0.1s H T JAM R Y 0 F 1A Tb ¢ Sl ¢ | IR STATE &1 URHATI &:
Options :

1. % 0.5V

2.9 0.05V

3. % 0.07V

4. % 0.4V

Question Number : 275 Question Id : 5038906917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The radiations of minimum wavelength in the electromagnetic spectrum is:
Options :

1. # radio wave

2. ® beta-rays

3. # X-rays

4. ¥ gamma rays

Question Number : 275 Question Id : 5038906917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fegddae Iy WaeH & ad a1 ¢ed & fafhrur g;
Options :

1. ® IfSA R’
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2. % glerfhvul

z_gq?p\:.r?r

4. « T fHrof

Question Number : 276 Question Id : 5038906918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a wave is incident obliquely on the boundary between two different media the transmitted wave is called
Options :

1. ¥ Refracted wave

2. ® Standing Wave

3. # Electromagnetic Wave

4. ® Radial Wave

Question Number : 276 Question Id : 5038906918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fe BIS a1 < i Areaat ot afiian wR forest sufad gich 8 ot URTI R bl PEd B
Options :

1. ¢ 3uafdd aeT

2. % SUETHI AT

3. % fagqgd-Ja g R’

4. % AT

Question Number : 277 Question Id : 5038906919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A train that can move at almost the speed of light is going at speed of 0.99¢ with respect to ground. The length of the train measured when it was
not moving was 100m. Now a woman tries to measure the length of the train, what will it be?

Options :
1.¥ 14m
2. % 10m
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3. % 18m

48 24 m

Question Number : 277 Question Id : 5038906919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T S Sl TRTHT U1 b1 T | el Teboll & a8 STHI & JT0ef 0.99¢ P11 F ST It B | ST & 7Y =1 g1 oY o A7t 718 ¢ Y deirs
100 Hiex 2t | 3 T Uil o1 B GaTs AT B DI HRT 8, 98 T 2

Options :

1. ¥ 14 1R
2. % [0 HIR
3. % 18 IR
4. % 24 AR

Question Number : 278 Question Id : 5038906920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following option is correct of the given option:

The two basic postulates of the special theory of relativity are as follows:

[x] The laws of physics must be the same for all observers moving at constant velocity with respect to one another.
[y] The speed of light must be the same for all inertial observers, independent of their relative motion.

Options :

1. # xis correct but y is wrong
2. # yis correct and x is wrong
3. ¥ both are correct

4. # both x and y are wrong

Question Number : 278 Question Id : 5038906920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafefed 3 9 o 91 fasey fau e fasey & 3 481 &:
e & faRiy Rigid &t & gt SifyRomE 39 UHR ©:
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[x] T GOR & Trdef FRR o1 ¥ 71fd &t arel it uiierap! & g aifaest o faw 3o 8n =nfey
[v] 94 STScdig ydderdt & folu Uehre] ot 71fa A 8-t I1fee, ST rdef i I W |

Options :

1. # xﬂﬁ%ﬁmyW%
2. % yUEI g AR x TAd §
3. ¢ S e €

4. ® xﬁ'{yfﬁ:ﬁW%"

Question Number : 279 Question Id : 5038906921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Clocks in motion relative to an observer appear to be slowed down by a factor . This is known as
Options :

1. # Time hastening

2. ¥ Time dilation

3. # Time static

4. ® Time pausing

Question Number : 279 Question Id : 5038906921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Fill in the blanks

The conservation of mass—energy law requires that the sum of the mass—energy of a system of particles before interaction must the sum of
the mass—energy of the system after interaction.

Options :

1. # Be greater than
2. % Be lesser than
3. # Not be equal to
4. ¥ Be equal to

Question Number : 280 Question Id : 5038906922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 281 Question Id : 5038906923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Science has certain characteristics who distinguish it from other spheres of human endeavour. These characteristics define the nature of science

except one of the following. This is

Options :

1. #® Science is a particular way of looking at nature
2. ¥ Science is a narrow body of knowledge

3. % Science is an interdisciplinary area of learning

4. ® Science is always tentative

Question Number : 281 Question Id : 5038906923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 282 Question Id : 5038906924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Most investigations in science involves some form of scientific method. Which one of the following is not an element of scientific method?
Options :

1. # Observations

2. # Hypothesis

3. ¥ Testing without prediction

4. % Scientific theory

Question Number : 282 Question Id : 5038906924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 283 Question Id : 5038906925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Educational aims are framed in accordance with our socio economic and sociocultural needs. Which of the following is not one of the aims of
Teaching-learning science?

Options :
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1. #® To deliver a scientific temper, attitufle and honesty

2 % To dex Plnp an artistic bent of mind

3. # To acquire the requisite theoretical knowledge and practical technological skills to enter the world of work

4. ® To nurture the natural curiosity, aesthetic sense and creativity in science and technology

Question Number : 283 Question Id : 5038906925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 284 Question Id : 5038906926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who consolidated his theories in his book “New System of Chemical Philosophy”?
Options :

1. # Isaac Newton

2. ¥ John Dalton

3. % JC Bose

4. ® Niels Bohr

Question Number : 284 Question Id : 5038906926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 285 Question Id : 5038906927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a plasma physicist who initiated and founded the Plasma Science Society of India

Options :

1. ¥ Bimla Buti

2. ® Venkatraman Radhakrishnan

3. # Chandrasekhara Venkata Rahman
4. ® JC Bose

Question Number : 285 Question Id : 5038906927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 286 Question Id : 5038906928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The teacher plays an important role for nurturing creativity in learners. Which of the following is not an important role?
Options :

1. # Assist students in developing models of inquiry and discovery
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2. ¥ Guide students in the use of some type of approach

3_# RP(‘ngniqP and ﬂpprP(‘iﬂfF‘ creative ideas and products of students

4. ® Provide reach variety of learning experiences to the students

Question Number : 286 Question Id : 5038906928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 287 Question Id : 5038906929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following skills must a Physics teacher have?
Options :

1. ¥ Skill of closure

2. # Skill of talking extempore on other subjects

3. ® Skill of contradicting established formulaes

4. % Skill of making the students afraid of him/herself

Question Number : 287 Question Id : 5038906929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 288 Question Id : 5038906930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sum up the role of the teacher in promoting Argumentation except which of the following

Options :

1. # provide an open ended situation open in this to the learners to initiate argument
2. ¥ Ensure nonhomogeneous participation of learners in argumentation
3. # Provide positive feedback to the learners

4. ® Help the learners to summarise the major ideas evolved In argumentation at the end

Question Number : 288 Question Id : 5038906930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 289 Question Id : 5038906931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one of the following is the correct age range given by Peaget's Stage Dependent Theory

Options :

1. # The sensory motor stage - 0 to 3 years
2. # The pre operational stage - 4 to 6 years
3. ¥ The concrete stage - 7 to 11 years
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4. % The formal stage - 12 to 16 years

Question Number : 289 Question Id : 5038906931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 290 Question Id : 5038906932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What should be the roles of teachers and learners in the Teacher-centred Approaches of Education?
Options :

1. # Learner acts and teacher facilitates learning

2. % Teacher is active and learner is passive

3. # Teacher makes teaching learner active

4. ® Both teacher and learners are passive

Question Number : 290 Question Id : 5038906932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 291 Question Id : SD38906933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is not a constructive teaching model?
Options :

1. #® Nussbaum and Novick Model (1982)

2. #® Niedderer Model (1987)

3. # Model proposed by Wittrock (1994)

4. % 7 F Model (1997)

Question Number : 291 Question Id : 5038906933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % e 3R Aifd® Alsd (1982)

2. % TR Alsd (1987)

3. % fqecie gRI URdIdd Hied (1994)

4. ¥ 7T HISd (1997)

Question Number : 292 Question Id : 5038906934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to Black and McClintock (1995), the Interpretation Construction (ICON) Model of teaching —learning consists of  steps
Options :

1. # 05

2.9 07

3. % (09

4. % 11

Question Number : 292 Question Id : 5038906934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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1. % 05
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Question Number : 293 Question Id : 5038906935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a phase of 5Es model of teaching-learning in school?
Options :

1. ¥ Ensure

2. #® Engage

3. # Explore

4. ® Explain

Question Number : 293 Question Id : 5038906935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 294 Question Id : 5038906936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Which one of the following is not an effidient role of a teacher in problem solving approach?

QOptions
r

1. # Teacher’s role is to facilitate students to define the problem
2. ® Teacher’s role is to encourage students to plan their method of problem solving

3. # Teacher’s role is to encourage the group that has completed the task at the earliest to extend help to the group struggling with the problem,
so that they can do it within the given time frame

4. ¥ Teacher’s role is to explain the ideas on the problem which is not solved

Question Number : 294 Question Id : 5038906936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FroffEd 3 O S gawr G SunTH § g Bt e YR Tel 82

Options :

1. % e ! YT SHET & TR B URUTNG B T GiaeT U™ B8

2. % R1& BT YT ST B T THIYH B SO UGHdl B! AT S & [Td TeTfed &3l 8

3. % fR1gidh 1 YfHehT TR ¥ S I8 g B YeTadl UeH HR- & Q78 Sleg 9 Sfeg B IR B o (A4 Tened HRA1 g, dlfds d UaH
B TS THY AT & R I R R T

4. e o1 YT 39 TR W faaR] &1 SIReA] &A1 ¢ oIl 89 ol gidl §

Question Number : 295 Question Id : 5038906937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following teaching methods does the student acquire the knowledge himself by discovering the facts himself?
Options :

1. #® Tutorial method

2. % Demonstration method

3. ¥ Heuristic method

4. ¥ Discussion method

Question Number : 295 Question Id : 5038906937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 296 Question Id : 5038906938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Analogy is a process of identifying similarities between two concepts. Which one of the following is not a step of teaching with analogies model?
Options :

1. ¥ Introduce the information

2. % Review the analogue concept

3. # Indentify relevant features of the target and analogue

4. ® Map similarities

Question Number : 296 Question Id : 5038906938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 297 Question Id : 5038906939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A science teacher needs to have good communication skills for effective teaching-learning of science. Which one is not a quality of an effective
science communicator?
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2. % The communicator should understand well whatever he/she wants to communicate
3. # The communicator should believe in two way interactive communication

4. ¥ The communicator should know his /her students well and should be sensitive towards their needs and concerns

Question Number : 297 Question Id : 5038906939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 298 Question Id : 5038906940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one of the following is incorrect?

Options :

1. # Language teaching needs to be multilingual
2. % It is imperative that we honour the child's home language(s)
3. # The three-language formula needs to be implemented in its spirit

4. ¥ There should be no study of classical and foreign languages at any stage

Question Number : 298 Question Id : 5038906940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad 7 9 & 1 Ted 72

Options :

Google Play

(Zsavan-seiareironvy


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaRi7

1. % 77 fR1eror sgumt 811 e
| 5 % weoadt 2 i e = ot e amT (HTWTSHT) BT IR B

3. % FLYTYT I B B! HIGHT H AR B B! SHaIHdl §
4.« forddt 1t TR IR el SfR A=l wrwralt 1 siemae =gl g ey

Question Number : 299 Question Id : 5038906941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one is the advantage of science kit?

Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.

Options :

1. They provide easy availability of all the materials for performing experiments at one place and are moderately priced

2. Only a few number of activities and experiments can be performed with a few apparatus and materials

3. They are portable and can be used both indoors and outdoors

4. They save time required for collecting the materials and apparatus each time a teacher wants to perform activity or experiments

Question Number : 299 Question Id : 5038906941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.
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Question Number : 300 Question Id : 5p38906942 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following precautionary measures is related to electrical hazards ?

Options :

1. % All the chemical should be adequately labelled

2. # Careful supervision is required in the use of corrosive substance

3. # Special care must be taken in some of the experiments such as benzene should be replaced by methylbenzene, wherever possible
4. ¥ Equipment should carry a distinctive on/off light

Question Number : 300 Question Id : 5038906942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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